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 ��* ���� ���
�
 ����� ��5
���!�
 ��
� �+���
 ��������
 ��� �

 %����
. ���!�
 ���9
�����
 ��
���%��
�
�� -���
��
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� � �� �����5����
 �
� ��
����
� ���� ,���
 �+�

 �
�
 �
 �

����
�
 ����5
 ������
� �+ = +kF

� 
� �5����
� �− = −kF
� !�� ��
� �
���

��
�
� 
� �


������

� ��
� ����
����
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π

√
m2 +mn + n2 �:E#::�
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� ��� ������� ��*
����
� 
� ��
� ����
 �
 �� �
 ���� � ��?��

�� ��5��
� �
 ���
�����#

::�



���9 B3��
�
� �6�� ��� �6��	
8�� ���

���� :E#< � �����5����
 �
� ���
��� !�
 �
��

� ��

��
 �
� ��
D��

�� t⊥(a, b) 
� t⊥(a,b)
∆ε(a,b)���� ����
� �
� ��������� �����%�
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� ���
5� / �� 
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 ���
 
�� c 
� �+�
��5���
�
 ���� 
�� ����� �5��
 � J # 1� ���
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 �
 ���� ��� �
 ���
 �������

� 
�� ��
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R3 0, 3 µm

��E �?;
Ω

;EE
Ω

�E ;FE :#D
R4 1µm

�E <�E
Ω

<�E
Ω

�FE :�EE :#� �����
��

R51

�
µm

FEE :< kΩ �: kΩ F :;E E#E?; �����
��

R6

E#F µm �EE ��F
Ω

��E
Ω

FE �<E :#;
���� ::#: � 3��
�����
� ������������!�
� �
� ����
� �
����
�# 1
 
��%�
 N �
 
�
���%
�
��
� ���!�
 ����
 
�� ������ �� �������
 �
 �� ����
# 1
 
��%�
 �
 ��%
� ���������
�
�� ���
����� 
�� ������ � ������ �
 �� �������
�
 ��
� �+���� �������
����
�� !��
� ��
���
�����
 
�� �%�
���%�
# @
 �����
 Nmetal ≈ N/3 #
���� �
���
�� �� 
����� �� �����

��
�!�
 ���� �
 ��5��
 �
 ���
����� ��
����
�!�
 ��
� �� ����
. �
 
��%�
 �
 ��%
�
�������� ����� � ������ ����
 �
 ��������
 �������
� �
 �� ���
�����
 �������
�������
#
<+�

 ���� ���� �
 
��%�
 �
 ��%
� ��
� �� ����
 
�� ,��%�
 
� ���� �
 �
 ��������
 �


�� �����
 :<# -���
 �

 ���
�����
 �
�� �
 ���� ����

� 
�� �������
 ��� �
� ���������
�
���� �
 �)����
 :< �
:
� �D��. �� ���
�����
 �������
�������
 
�� �
 ���� 

 ���� ,��%�
# ��
�
 ������
 �
� ����
� 0� 
� 0� �A�5#::#D� �
 ��
����
 %�

 !�
 �� ���
�����
 
�� %
������
���� ���5
 ���� 0� ��E ��%
�� !�
 ���� 0� �F;E ��%
� ��
� ���� �
 =E �������!�
�� � ��
,��� 

 �
��������
 
� 

 ����� ��5
���!�
 #
<+����
 ���� �
 �+���

� � �
 �
���
�� ����
��5
 �
� �
�
������
� ������%�



� ��
�

�

 5����
 ����
 !�
 ��
� �

 :

 ��,# �������
 ��� �+���� 
������# -��!�
 ��%
 
�� ����
��
��� �
� ��
����
� �
 ��
 �����
 ����� � �

 �����
�
 �
 0.3 
� !�� 
�� �
,���
��
 �� �������
�� ��%
# -
� ����"����
��5
 �
�� %�

 �
���
�� !�+�

 5����
 �������!�
 5�
����
�

� �����
���
 �
 �+����
�����
. �� ��
�* � !�
�!�
� 
�
�����
�# -
�� ,������
 �� �������
���������
��� �+�
�
������
 ��
����
"���
�
 �
���
��%�
 �
 �+������
�

� �
� ����
� �
 -���
� ����

�+����
� ���� ,����
�

� �� ��������
 ������%�



 !�
 �
��
"�� 
�� ������
 ��� �
 ���
���

�+����
��5
#

���� ���� �� ����� ���

�	���

11�
�1 �/�-0 �)!#!�+' � '�'# �)&!#� �+ 0�)�-�.$*#!�+' �
�� 
�� ���� ��D���
 ��
� �
 ��� �
� 
�
���%
� �
 ���
 ����

� �
 ����� ��5
���!�


������� �� �������
���������# <+�

 ���� �
 ����� �
�� ������
� �
� �
�* ��
����
� �+�


�7�
 ����
 �
 -���
� 
� �� �������
. ���� �
�� �� ,��� �
�������
 �
 !��
��� �
 ��* ��
�
�

 ���,��
 ��������
 ��� ξ ��
5�����
��
�

� 
� d �
 �������
 �+�
 �
�� ��%
 ���
��
���"�
�

� �� �
 ����� 
�� �
��

��������
 � �� ����
 �A�5# ::#=�# <�
� �+���� �������
����
��
�� 
�� �����%�
 !�
 �
� ����
� �
 -���
� ����

� 

��
 �
� ��%
� ��� 
?
� 	��
����
# 1�

:FE



���� ���	 �
 ��6�4 �6��3	��
� �9�

���� ::#D � 2 5����
. �������
�
 �
 0� 

 ,�
����
 �
 �� �
��������
 ������ ��
�
� 
� ��
����� ��5
���!�
 �©� �
����

��
 

 ���
��
 ������
 6�6

c

� ���

c
# 2 �����
. �7�
 ����


���� 0�# @
 ���� %�

 ��
� �
��
 �
����

�����
 �
 ,��� ����5���
�

� �
 �� ���
�����
 ����
0�#

�
��������
 �
 �
 ������5
 ����
���
� 5�
����
�

� � �
� ������ ���
C ,��%�
� ���� �


�
���
 �
 �������
�
 
+) 
�� ��� �

��%�
 �� �
� ��%
� ��
� �������
����
��� �
������
��
"�

�# -+
�� ����!��� ���� �����
� �
 ����� �����!�
 
��� ��

�
� �
 �������
 �+�
 �
��
��%
# @
 �%��

� ��
�� Hc = Φ0/(2

√
πdξ) = 1.35 6 ���� 0� 
� 0.25 6 ���� 0�# <+����
���� �
 ����� �
�� �

��
 �+���� ������5
���!�
 ���� ���%�
 !�
 �+���� �������
����
��#

1
 ����� �����!�
 
�� ����� HP = ∆/µB = 1.43 6 ���� 0� 
� 0.36 ���� 0� �
 !�� 
�� ���������
 �
� ������

�
� ���
���# $*�����

���
�

� 
��� ���
� �
����. !��
� �
 �����

�� �
��

��������
 ��* ����
�����
�. Hc = 1.6 6 ���� 0� 
� 0.22 6 ���� 0� �
 !�� �
������
���
��
 ��* �
�* ���
����� ���5�
��#

11�
�� �$!"�#)�0!' (+ �/�-0 �)!#!�+'
2:
 �
 ���
���

� �
!�
� �
 �
� ����
���
� �
�
���

�. �� ,��� �
���
� �
 ����� �����!�


���� ��?��

�
� ���

�����
� �� ����� ��� ������� ��* 
�
���%
�# $
 
?
� �
 ����� HP
�� �������
 ����� !�
Hc
�
�� �
 �+����
 �
 1000 6 �� �
 ����� 
�� ��������
 ��* 
�
���%
� �����
 �
 �
�� �
��� �������
# ;��� ���
� ������� �
��
 
*����

�
 ��� �+����
�����
 0�# 3���

�
�� 
��� ���
� �
���� �� ��5
���"�������
�
 �
 �+����
�����
 ���� �
�* ���

�����
� �
����� ��5
���!�
 ��?��

�
�# @
 ��:
�� �
 ����� �����!�
 ����
 �
 ����� � ������ ��!�
�
�� �������
�
 ����

�
 � ��������
 !��
� �
 ����
�
 �
 ����� �A�5 ::#:E�# 1
� ��

�
�
��
��

� %�

 �
 ����� �����!�
 ���� ,��� ��
� �� ��
:5������
 ��������
 �:5# ::#:E�#-���
 �
 ��%
 
+
�� ��� ������
�

� ��������
 �� ����� �A�5# ::#=� �
 ����Hc = Hc⊥ cos θ�
 !�� ����
���
� �� ,���
�� :#< !�
 �+�
 �%�
��
 ���� �
 �
5�
 �
 �; �# -
�

��
� ����
,���
 �
��
 
*����

�
 �� � ,���� �)��
� ��
���!�
�

� �+����
�����
 �
 !�� � ��5��
�

�

:F:



�9� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

�������

�����

�

	⊥

	




���� ::#= � ������ �
����

��
� �+���

�����
 �� ����� ��� ������� �� 
�
���%
 ��
�
�
� 
*����

�
� ����� �
��

��������
 ��

⊥
� 
� ����� ��������
 ��

//
�# $
 5�������
 �
�"�

��������
 �
 ����� 
�� ���,���
�

� �
��

��������
 �� ���
 ��
� �
!�
� �
 �����
 �



�
���%
. ��� ��
��
 

 ����� ��������
 �� �
�� 
*���
� �
 �
5�
 θ 
�
 ��
�����%�
 

��
 �
����� 
� �
 
�
���%
 !�� ���

� �
 �� ��
���
 ��
� �
 
�
���%
 
�� ���

�� ��
� �� ,

�
#

���
5� �� �������
�
 ��
� �+���� 
�����# <
 ���� �� 
+
�� ��� ������ !�
 �
 ��
�������

��� ��� ������ 
*���
�

� �
 �� �7�
 ��
���
 � �+����
�����
 ��
� �
� �
�* 
*����

�
�
��� �� � ��� ����
�� 

��
 �
���# 1
 ,���
�� 1.6 !�
 �+�
 �%�
��
 �������� ��
� 7��
 �& �����
5
�

� �
 ��
�����
� 
*�����

���
�#
2��
� �
 ��
����
. �� ������ ��
� �
����

��%�
 �
 ������
� �
��
 
*����

�
 ��
� �


��)����� �������
� �

 %�%�

 � �*
� �:
 �
 �
���
� �
 ����� �����!�
 ��
� �
� �
�*
���

�����
� ���� �� �7�
 �
,�������
�

�#

11�
�� �!-'$"!�$$� !#*
1� ��������
 �
 �
��������
 �����!�
 �
 �+����
�����
 0� 
�� ��
����
 

 ����� ��5
�"��!�
�A�5# ::#F� ��
�� !�
 �
��
 �� ����� �����!�
 

 �
��������
 �A�5# ::#::�. �
 !�� 
��

�����

�
� ��� �
 �������
�

� 
�� ������������!�
 �
� �)��
�
� %�"���

���


�� �D;� ���"�(� !�
 :<# -
�

��
� �
�� �������� �+
*���!�
� ��� �
 ,��� !�
 �
 ����� �����!�
 ���� �
���
:F�



���� ��� �
4
6����
�	�
�	3 
���������������� �99

���� ::#:E � 0������
�
 �
 0� 

 ,�
����
 �� ����� ��5
���!�
 �
����
 

 ����� �
�"�

��������
 
� 

 ����� ��������
# ;��� ���
� ������ �
 ����� ��������
 �����!�� ���
1.6 ���� !�
 �
� �
�* ����%
� �
 ���
����

�# -
 ,���
�� �
�� ����� %�

 ����

�� �+�

��
��
 �
��������
 !�
 �+�
 ���
5
�

� �
 �������
 ��
� �+����
�����
 � ����
 �� �)���5

��
���!�
# 1� ��5

 ��
��
�
 �
�� �
 5���
#

� HP
!�� ��
���� �
 �)����
 �
�� �
 ���� ������5
���!�
# $
 
?
� �
 �
�� �����
 ��
� �


��� !�
 �
 5�� 
�� ������ ��� �+�

�5�
 �

��
# <�
� �+�)������
 �� �� �
��������
 �����!�


�� ���������


��
 �� 5�� �
 �%��

� /

Tc(H) ≈ Tc(0) − gµB

αkB
H �::#��

<�
� �� ������
 �-� �� ��
���
�
 α = 1.76 
� ��
� �
 ������� g/α 
�� �����
 �
 1 # ;������
� �9���� �� ����%
 Tc(H) 

 ������
� �
 ������� ��%�
# ;��� �%�

�
� �
 �
���
�� ������������ �

 ���
�� �
 �
 ������� �
 1/2.6 !�� 
�� �����
 �
 1 # �� �
�%�
 ��
� !�
 �
��
���������
�
 ��
����
 �
 Tc
�+
*���!�
 �
 ,�B�
 �����,����
�
 ��� �
 
?
� �

��
#

���� �
� �������
����	�	�
 �
	�	��
�	�

����

11���1 �'" "�+#" (' 0/�"'
��� �
� :5��
� ::#� 
� ::#; �
� ����� ��
� �� �������
�
 ��?��

��
��
 ���� �
����

�

���
��� �� �����
� �����!�� ����
��

� �
� �
���
� ,���
� ��
� �
� :�� �������
����
���
���� :
� �D<�# -
� ����� ��
� �����%��� � �
� ����� �
 ����
 �� ��������
 �+����
 �D<. <F�!�� �
 �������

� ��� �+���������
 �
 �
5��
� 
�����
� ��
� �+����
�����
 ������ �
� ��,����
��, �
����
 ?#F#��# -
 ���
���

 
�� �%�
��� ���� �
� �������
����
��� �
����

���


��

:FF



�9� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

���� ::#:: � -���� �����!�
 �
 0� 

 ,�
����
 �
 �� �
��������
#

�+
��"�"���
 !��
� �� ��
5�
�� �
 �����

�
 ξ 
�� ������
��
 ��* ���

���
� ���
��
��
� �
�+����
�����
# �� �
�%�
 !�
 �
� ����
� �
 
�
���%
� ���

� %�

 ��
� �
 ��� ����!�
 �
� ξ������� ��
� ���9���� ������
��
� �� �������
 �
� ����
�# -
�

��
� � ����
 �
 �� ,���

�
��������
 �
� ����
�. ξ ��
� �� ���
����
 �
��

��������
 ���� 7��
 �
,���
��
 � �
��
 �
 �����
����
 ���
��
��
# 1
 ,��� !�+�
 �%�
��
 �
� ����� �
 �������
�
 
� !�
 ξextrait � D ��

�������
 �
 �� ����
� ��
:��
 !�
 �� �������
��������� �%�
���
 
�� �
����

���


��
#
1� �����
 �
 �
� ��5��
� 
�� �
 �+����
 �
 ξ # �� �
 ��
��
� ���� �
 �������
�
 �
 0� �A�5#

::#�� ����
���
� %�

 � �+���������
 �+�

 C�

 
�����
 �
 �
��
 �����
 �∆0= Rξ = RN
ξ
L
�

�� 
�� �������%�
 !�
 ���!�
 ���� �����
� ����
���
�
 � �+���������
 �+�

 
���
��
 C�

 �

�����
 ξ ��� �� ����
 
+
�� ��� ���
C ��
5�
# �� 
�� �����%�
 ��� ��
��
 !�
 �
 ��
��
� ���� �
����
 �

 ,��� 
����� ����
���
�
 � �

 ��5��
 
�����
 !�� �+�5��
��� ��� ����
�� 9��!�+�
�

��
 �� ����
 �������
�

� 
�����
#-
 ��
� �5��
�

� �
� ����� �
 ����
 !�� ��
� � �+���5�

 �
 �+����5���
�

� 

 �
���"�����
 �
� ���
�����
� ��� ��� ���

� �

 �������
�
 :
�
 ��
� �+���� �������
����
��# $

���������
� ��
� �� ������
 �
 �
 '����
� 
� $55
� �<E�. ��� ���
���


� �������
�

� ��
,���
 �
 �� ���
�����
#

11���� �'" ��+)�$#" �)!#!�+'"
@
 �
�� ��:
�� ��?��

�� �����
�� �����!�
� ��� �
� ����%
� �
 �������
�
 ��?��

��
��
#

3��� �+����
�����
 0� �
 ���
��
 IC �
 �����
� ���� �
!�
� �
 ��
��
� ���� �
 ����
 ��������
� I∗C �� ���
�� �� �����
� ���� �
 �
�
�
� ���� �
 �������
�
# 3��� �+����
�����
 0� �
�� �
���� �
 �������
�
 
�� �����
�

� ��

��:�%�
 
� 
��� ���
� ��
� ���
���
� �
 �
�� �����
�
:F�



���� ��� �
4
6����
�	�
�	3 
���������������� �9�

�����!�
 
��� I∗C = 60
2# <�
� �+����
�����
 0�. �� ���
�� �� �����
� IC = 60
2 � ��!�
��
�
 ��
��
� ���� �������� ����
���
� � �� ���
�� ������!�
 �� �����
� �����!�
 ���� �
 :�
�������
����
�� ��?���, �
 5�� ∆ = 85µ
> �IC = ∆/eRξ = 20 
2� �D?� ����� !�
 �� ���
��
�
 �����
� ����
���
��
� �� �
�
�
� ���� �
 �������
�
 I∗C = 2.4µ2 
�� �����
 �� �����
������!�
 ���� �
 :� %������!�
 ��
�

�
� :EE ��
��* �
 ��
������
 I∗C = ∆2/Rre �

:#� µ2#

���� ::#:� � >�������
 �� �����
� �����!�
 

 ,�
����
 �
 �� �
��������
 ������
 T/T∗ 
� ������� ��5
���!�
 ������ �H/H∗�#1
� ��������
� 

 �
��������
 �
� �����
�� �����!�
� Ic∗
������
�� 
� Ic �����
5�
� ���
�� �
 0�. Ic∗ �������� �
 0� �
�%�

� ��

��!�
�# 1� ����%
 


���
������ 
�� �
 �����
� �����!�
 ����
���
��
� � �+�!�����
 ::#; !�� ������ �

 ��������

���� ,���
 !�
 �
��
 �%�
���
# 1� ����%
 

 ������ ��
�
 
�� �
 �9���
�

� 
*��


��
�
���� �
� ��������
� �� �����
� 

 ,�
����
 �� ����� ��5
���!�
 !�+�
 �
�� ������
� ��*
��������
� 

 ����� ��5
���!�
 �� �����
� �����!�
 �
 0� ���
��� 
� 0� �����
5�
� ��
�
��#

1
� ��������
� �
 IC 
� I∗C ��
� ���� ��������
� ���� �
� ��?��

�� ����
�����
� 
� 


�
�%�

� ��� ���

��
 �� 
��%�
 �
 ��%
�# 3�� ��
��
 �
 �������
�

� �� �����
� �����!�



 ����� 
� 

 �
��������
 
�� ���� ��?��

�# @
 �%�
��
 �

 ��������
 ���� ,��%�
 ��
�����
� �����!�
 

 �
��������
. ��� �� 5���
 
*�����
. �� �+�
 ������
 � �� ���������
 �

����


 �DD� ���� �
 :� �������
����
�� �
 ���5
�� W � ξ !�� �
������� ���
C %�

 �
������
�� �����!�
� �
����� ��
� �� ��,��

�
 �D?�#

Ic(T ) ∝
(

1 −
( T

Tc

)2
)3/2

�::#;�
$
 �
��
��
 �� ��������
 �� �����
� 

 ,�
����
 �� ����� ��5
���!�
 
�� %
������ ����

,���
# $
 ��
����
 �����*������
 Ic ������� ��
����
�

� 

 ����� ::#;�. �
 !�� ����
��

,���
�

� �
 ������

�
� 
*����

�
� �������
� ��
� �
 5����
 ��� �� �������
���������

:F;



�9� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��
-���
 ��
5�
�� �1� ; ������*#� 6∗ ��>� �

c
�µ2� �∗

c
�µ2�

R1 :#< µm FEE :�E E#: E#F<
R2 1 µm

F;E ;;E E#E< �#�
R4 1µm

�E :�E E#E<
R51

�
µm

FEE :FE E#E�E E#:�
���� ::#� � 6
��������
� 
� �����
�� �����!�
� �
� ����
� �
����
�# 6∗ 
�� �� �
��������


 �
����� �
 ��!�
��
 �� �������
�
 ����

�
 � ����
�. �

c

�� �
 �����
� ����
���
��
� ��

��
��
� ���� �
 �������
�
 
� �∗
c

�� �
 �����
� ����
���
��
� �� �
�
�
� ���� �
 �������
�
#

�
����
 ��
� �
� 
�
���%
� �D=�# -
�

��
� �+��������
 �
 �� ��������
 �� �����
� 
��
���
C ,��%�
 
� �
 �
�� ����� %�

 �9���
� �� ����%
 ��� �

 ���������
�
 
*��


��
��
 �
 !��
����
���
� �� �������
�

� �%�
��� ���� �� �������
��������� �
� �������� ��5�
�!�
�
!����":< �=E�#
11���� � +�#+�#!�$" "+0)���$(+�#)!�'" �+ (' � ('

T ∗

1� %���
 ���

���

����� �� �)����
 �
 �
���
 ����� ��
� �� �
�����

�
 �
� ���������
�
�������
�������
� ��"�
�� �
 �� �
��������
 T ∗ � ��!�
��
 ����

�
 �� ���
�����
 ��� �
��
���
� �
 �������
�
�# $
 ���������
�. 
��� ���
� �
���� �� ��5
����������
�
 �
 0� �
:> !�� ��
��
 

���
 �

 ,��%�
 ����
����
 �
 �� �������
�
 � %�� ����� �A�5# ::#:F�# -
��
�
�� 7��
 �
�
������ ����
 �

 ����
���

�
 �
 �� �������
���������# 8
 �
� �������
�

�


 ����� ��5
���!�
 
+
�� 9����� �%�
��� ���� �
� ����
�����
� 
�
"�������
����
���#

���� ::#:F � '�5
����������
�
 �
 �+����
�����
 0� �Tc < 100�>� �
����
 � :>#

:F<



���C ���46
6���� 6
�� �6 	�3�
�� �� �������� ����� �9C
���� �������	��
 ���� �� ��
��	� �� �������	 
����

0.3 0.6 0.9
T/Tc

0

0.2

0.4

0.6

0.8

1
R

(T
)/

R
(T

c)
N = 68, Tc = 0.55 K, ν = 0.96

0.3 0.6 0.9
T/Tc

0

0.2

0.4

0.6

0.8

1

R
(T

)/
R

(T
c)

Tc = 0.12 K, N =43, ν = 0.16 

���� ::#:� � 29���
�

� �
 �� ����
 �
 �������
�
 �
 0� 
� 0� ��� �� ������
 �
 �� ��,��

�

�<E�#

;��� �������
� ��
� �
��
 �����
 
�� ��

�
� 
*�����

���
� ���� 0� 
� 0� �� �����

�
 �
 '����
� �<E�# -
��
 ����������
 �
�� 7��
 

����5�
 ���� �
� �
�* ����
�����
� ���
�
� �
���
� �
� ��� �������
� 9��!�+� �
� �
��������
� ���� �
,���
��
� � �� �
��������

�����!�
 ���� �
�!�
��
� �
 �����
 
�� �����
 �T/T ∗ = 0.3�# -���
 �� ������
 

 ��

���� 

 �����
 �
� ��
�����. 
��� ���
� ��������� �� �������
�
 �
 ��
���� ������
 � �� ����
%���
 �
��������
# $
 �
��
��
 
��� ���
� ��
����� !�
 �
��
 �������
�
 :*
 �
 
��%�
 �


�
���%
� ��
����
��� 
� �
 ��������
 
�� ��
� ��
������ ����
 :*� ���� �
� �9���
�

��

:F?



�9� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

�
� ��

�
�# <
 �7�
 �
 ��������
 �
 1����
5
� g �������
� �
� �
�
������
� 
�� ������ �
1.3 ���� �

 ����
 
� 
+
�� ��� �
 ��������
 �9����%�
#-���
 �
 �+� �� ��
� �
 ����5����
 ?#F. �� �
��������
 �����!�
 �
�� 7��
 ������

��� �
 �����
 ������!�
# -
�

��
� �
��
"�� ���

� �
 ��������
� ����������!�
� !�� 

��
� ��� %�

 ��

�� ��
 ������5
 	��
����
� 
� �
 ������
 ��
� �� ���
�� 
*�����

���
#
�� 

 �
��
 ��
� !�+�
 �
�� ��������
 �9����%�
 ν # @
 � �� !�
 �
 ��������
 
�� �
��� ��� ��


������� �
� ��%
� �������!�
� ��
� �� ����
. �� 
�� ��
� �������%�
 � ���
���

�

*�����

���
�

�# �� ���
�� ���� �

 ����
 �������
 �
�!�
�

� �
 ��%
� �������!�
�

�� 1 #1+�9���
�

� �
� ��

�
� 
*�����

���
� 
�� �
����

�� :5��
 ::#:�# 1+������ 
�� ����
%�
 ���� 0� � %���
 �
��������
 ��
� �
 ��������
 ν = 0.75 �����
 �
 :# $
 �
��
��

���� 0� �+������ 
�� ���
� %�
 
� �
 ��������
 ν = 0.16 ��?��
 ���� �
 �� ���
�� :# -
��
�
�� �+
*���!�
� ��� �
 ,��� !�
 �+����
��5
 
�� %
������ ���
� %�
 ���� �+����
�����
 0�
����
 
��� �+���
� �� ������
��

�#
$���
��

� �+�9���
�

� 

 ��

� ���� ���� �
 T ∗ ����!�
 �� ������
 �����
 �
 
��%�
�
 ����� �
 ����
 

 �
����%����
# -
�*"�� �����,��

� !��
� �� �
��������
 ��5�

�
 
��� ������
 

 �
�� ��� ��

��
 �
� 
?
� 

 �����
# <
 ����. ���� �
 T ∗ . �� ��
5�
�� �
�����

�
 �������
�������
 
�� ���� 5��
�
 
� �
 �������
�

� 
�� ��
� ,���
�

� �
��

��

��� �
� ��
����� 
�����*# -
�� 
+
�� ��� ���� 

 �����
 ��� �� ������
 !�� ������
 !�

�� ����
 �
 
�
���%
� 
�� �
:
�
# $
:
 �
 

 �
�� ��� �+���

��
 � �
 %�
 ������ ��
�
��

��
 �
 �������
 

 �����
# $
 
?
� �
���"�� ���� �
� �

��
� �
 
��������
 ���� �
������ �
 ����
 !�� ��
� � �� %��
 �
 �
��
 ������
 �<F�#

:FD



���� 2��

� �� 8

�	 �6�� ��� ��
��� �� �6��	
8�� �9�
���� ������ �� ���	� ��
� ��� ������ �� 
�
������

2:
 �
 ��
�* ��

����
 �� 
����
 �� ���
����� �
 �+����
�����
 0� 
��� ���
� �������
�
� �
���
� �
 %���� �
 5�

����
# -���
 �
 �+� �� �� ) � �
� �
 ����
� ��� �
 ��5��
 �

���
����� �
 0� !�� 
�� 

��
�

� ��?���, ����� !�+�� 
�� ��D���
 �
 �
 ���
�
�
� ���� 0�# <

���� �
� ����
�����
� ���� �������,� 
� ��
� �������

�� ����
 0� ����

�

� 5�
����
�

�
�
 ,��� %���� 

 1/f . �
��� �� ����
�

� �
� �����
���. �

��
� �� �
���
 �
 %���� �
5�

����
 ���� ��D���
#
11���1 �+�'"#��' �+'  ' &)+!# �
<�
� �
 ��
����
��. �� 
����
 ������������
 �
� ����
��� �
 ����5
� �
���� �
� ���"������
� �� �����
� �� �
 �� �

���
# 1+�
��)�
 �
 �
� ���������
� ��� %����� ��
�����
 �



��
�
 ���� ������
�
 ���� �
 ���
����� ��
����
�!�
 ��
� �
 ����
�����
 ���������!�
#
5� 8

�	 	��
���
�
2 �+�!����%�
 �
� ���������
� �
 �+���������
 �
� 
��
��* 5�
��

� �
� ���������
� �


�����
� ���
��
� �
 %���� ��
���!�
 �� %���� �
 	��
��
";)!���� �=:. =��# 1� !��
����
�����������
� �
� ���������
� �
 �����
� 
�� �� ,�
����
 �
 ����������
 〈I(t)I(0)〉 − 〈I(0)2〉�� %�

 �� ���
�,����
 �
 A����
� 〈I2(ω)〉 # <�
� �
 ��� �� %���� ��
���!�
 
��
 �
�� 7��
�
���
 � �� ��
�����
�
 5���
 �� �������
 ���������
"����������
 /

SI(f) = 2π < I2(ω) >= 4~ω coth (
~ω

kBT
)G(ω) �::#<�

�
 !�� ��


 ��
� �� �����
 ������!�
 �� kBT � ~ω /

SI = 4kBTG(ω) �::#?�
1
 %���� ��
���!�
 

 
��� ������
 ��
� ��� �+����
� �
,�������
� !�+�

 �
���
 �
 ��"�����
�
 �� �)����
 ���� �� �
�� 7��
 ������� ���� ����%�
� �� �
��������
#

5� 8

�	 �� �
��6����
1���!�
 �
 �)����
 
�� ��� ��
� �

 ��������
 ���� �!����%�
 ��� 
*
���
 ���� �+
?
�

�+�

 �

���
 � �
� %��

�. �
 %���� �
B��� �

 ��
���%����
 �������

����
 ���
��
 %����
�
 5�

����
# 3��� �����

��
 �����
�

� ��
 ���5�

 ��
������
� �
 :� �
����

���


�
��
�

�
� �

 %������
 �
 ���

��
� ������
��� 
� ��


��� � �
�* ��
����� ���,����# 8

��
����
 
�� ����� ���� ���
���� ����%�%����� τ � ���� ������� ����%�%����� 0� ��
� R + τ = 1 #
�
��������
� �
� 
��%�
� �+���������
 nT


� nR
���� �+���� ���
���� �� �������# �� �+�


�����
 �
��
 
*����

�
 �
 5��
� 
��%�
 �
 ,��� ����� �
� 
��%�
� ��)

� �+���������

��
� ��

�� ��� 〈nT 〉 = τ 
� 〈nR〉 = R # 2 ����
 �
 �� 
����
 ,
����
�!�
 �
� ����
���

:F=



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

nR, nT = 0 �� 1 # <+����
 ���� ����
 �� ��������
 
�� ���� ���
����
 ���� �������
 �
 �
nRnT = 0 # A�
��
�

� �
� ��5��

� �
������!�
 ��
���� ��* ���������
� �=F� /

〈(nT − 〈nT 〉)2〉 = 〈(nR − 〈nR〉)2〉 = Rτ �::#D�
-
 %���� 
�� ���
�� �%���� �
 ��������
� ��� �� �����
 ��
 ���5�

 ��
� �� ���������
 ��
,����
�� �+��
����
 ��� �
 ���

��
�# -
 %���� �+�

��
 ���� �

 ���
�������
 ���,���
 ��
�

 ���
*��
 �����
 ��� �
 ,����
�� �+��
����
� 
+
�� ���� ������ 

 �
�*#
$
 �
���
� �
� ���������
� �� �����
� ��* ���������
� �� 
��%�
 �+���������
 �


�%��

� /
SI = 2e(1 − τ)〈I〉 �::#=�

@
 ���� !�
 ��
� �� �����
 τ � 1 �
 %���� �
 5�

����
 �
��

� SI = 2eI !�� 
�� �
 %�����%�

� ���� �
� ��
����
� ����
���
� �

 ����
 � ���
 ��
� �

 ������%����
 �+�
�
�����
�
�
 �
��� ��

�� ��� �

 ��� �
 3�����
 �=��. ����
���
��
� � �
� ���

�

�� ����������#-
��
 ,�����
 �
�� �
 5�
������
� �� ��� �+�
 ��
����
�� �������
�� ���������!�
 
�
�+����� �=F� /

SI = 2
e2

h
|eV |

M
∑

n=1

τn(1 − τn) �::#:E�
�� �
� τn ��
� �
� ���
�������
� �
 ���!�
 ���
 �����
 �
 ��
������
# @
 �
��������
 ,���
�� �
 A�
� !�� 
�� �
 ������� 

��
 �
 %���� �
���� 
� �
 %���� �
 3�����
 ����

SI = 2e〈I〉F # 0���
��
� !�
 ����!�
 I = 2e2

h
V
∑

τn
�
 � /

F =

∑M
n=1 τn(1 − τn)
∑M

n=1 τn

�::#::�

@
 ���� %�

 !�
 �+�
�

���� �� %���� �
 5�

����
 �

�
�5

 ��� �
 ��5��
 �
 ���
�����# $

���������
� �
 %���� �
 5�

����
 
�� 
�� ���� �
 ����
�����
 %������!�
 ���� �
!�
� τn = :#-
�� 
�� ���
��
�

� ��� �� ���
���
 �
 3���� ��
� � �� ��������!�
 �
� ����
���# <�
� �

��
����
�� ���,��� ��
� �
!�
� �
� ��
����
� ��
� �����
�� �
 �� ��
5�
�� �+�
�
 �
 A
���. �

���
���
 �
 3���� �
� ,���
 � �
 �����5
� ���� ,���
 �
 ��!�
�� �+�
�
� ��5�����
�

� 
���"��� ��
� �
 �
���# $
 �
��
��
 ���� �
 ����
�����
 ��?���, �� ����
 �

� �
�� �

 ���
��:
�
 !�� ���

� �
 �� �����
 �
 �+����
�����
 ��� ������� � �� ��
5�
�� �)��!�
 �+�
�
���"���
 ��
����
"��
����
 �Lee

�# 2���� ��)



 ��� �
� ���
�������
� ��, ����5����
 <#:#F�. �

�����
 SI = 2

3
eI ���� L < Lee

�=;�# 1���!�
 Lee < L < Leph
�
 �%��

� ��� �

 �������


�
��"������!�
 SI =
√

3
2
eI #

5� 8

�	 �� ��@
�� 
*���
 

���
 �

 ��������
 �����
 �
 %����. �
 %���� 

 1/f 5�
����
�

� �����%���� ����
�

� �
� �����
��� ��
� �+����
�����
 !�� ����:

� �� ���
�� �
 �� �������
�
 �


:�E



���� 2��

� �� 8

�	 �6�� ��� ��
��� �� �6��	
8�� ���

� �����ΩΩΩΩ
�
�

�
�

��������	


��
���
�	�

�
����� ���

�����

�
���������

���� ::#:; � ������ �� ��
��5
 ��
����
�!�
 ������� ���� �
� �
���
� �
 %����#

�
���"��# -
� �
�
���
� �
��

� 7��
 ������
� ����
 �
 

�
�%�
 �
 �)����
� � � 
��
��*
�
 �
��� ������������!�
� ������%��� ��� �

 ���5
 5���
# -
� �)����
� ��
� ������� ��� �

�����
� �����!�� ���� �
 �� �
���
# �� 

 ������
 �
� ���������
� �
 �����
� �
 �� ,���
 /

SI ∝ 〈I〉2
fα

�::#:��

��
� α �
 �+����
 �
 :# 1� ���

��
�
 !�������!�
 

 〈I〉 �
��
� �
 �����
5�
� �
 %���� 


1/f �
� ����
�#

11���� ��--'$# '$#'$()'  ' &)+!# �
3��� �
� �
���
� �
 %���� 
��� ���
� ������� �
 �
��)�
�� �
 ��
���
 !�� ,���
�� �


��
���
 �
 A����
� �
 �� ������
�
 �
 %���� �
 �� �

���
 �+

���
 

 ��

�
� 

 �����
 �
�
���%���
� �
 �
���
�

� �
 %�
�
 ���� � �+����
�����

�5
 �� ��5
�� �+

���
# 1� �

���
 ��*
%��

� �
 �+����
�����
 
�� �����:�
 ��� �
 �����:���
�� �
 �

���
 %�� %���� �SV (ampli) =
1.4
>�√Hz�# 3��� ��
�
���� �
 %���� �
 �

���
 �
���� 

 %���� �
 �����
�. 
��� ���
�������� �� �
�����
 /

SI =
1

R2
(1 +R/R0)

2SV ≈ 1

R2
SV

�::#:F�
�� R0


�� �� �������
�
 �
 �����������
 ��, A�5# ::#:;�# -��!�
 ��
���
 
�� ��)


� �

��
�
!�
�!�
� ��
��
�#
3��� �
���
� �
 %���� �
���
��!�
 �+�
 �)����
 �� 
�� ����
��

� �������
� �
 �


�����5
� �
 ���� �
� ����
� %����� �������
�# 2���� 
��� ���
� ������� �
 ��
��5
 ��
�
�
�* �����:���
��� �
 �

���
 ��* %��

� �
 �+����
�����
 �A�5#::#:;�# 1+�
��)�
�� ,��� ��
���
�,����
 �
 A����
� �� ������� �
� �

���
�. ��
�� �

 ���������
 !�� 
+
�� ��� ����

�

��� �
� �
�* ��5
��* �
�� �����
�
# <�
� �
� 
*����

�
� �+����
�����
 
�� �������� 

 �����
�
��
��
� 5���
 � �

 ���
 
�
 �
���
 �� �
��
�� !�� 5�
��
 ���� �
� �
 %����#

:�:



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

3��� �����
� �
 ��
��5
. �
 %���� �
 5�

����
 �+�

 9�
����
 �
 � ��� �
���� 
� ����
�"��
� %�

 �� %���� �
 3�����
 ���

�� / SI = 2eI # �� � ��� ����� ����:� !�+�
 ����
�����
����������!�
 

 ����

���� ��� �
 %���� �
 5�

����
 ��
� �

 ��������
 / SI < 2eI/2000#

11���� �)+!# #/')-!�+'
1
� �
���
� �
 %���� �
� ��� �������
� � :>. �
��������
 � ��!�
��
 �
 %���� ��
���!�


����

 �
� %���� �������
�# -+
��"�"���
 !�
 �+�
�

���� �� %���� �
���� �
��:
 %�

 �� �
�����

�::#?� �A�5#::#:<�# 1� �
���
 ����

��
 ��
� �� :5��
 ::#:< � ��� ,���
 ��
� �������
�
 �

�����������
. �
 %���� ��
���!�
 �%�
��� 
�� ��
� �
�!�
�

� ����� ��� �+����
�����
# <�
�
�� ����
 �
� �
���
� �
 %���� �
 5�

����
 �
� ��� ,���
� ��
� �

 �������
�
 �
 �����������

R0 = 100kΩ � �
��������
 ��%��
�
# -
��
 �������
�
 ���
 �
 %���� 

 �����
� !�� �

���
�,���
 

 �
 %���� �
 �

���
 � ����
�� �� �������
�
 �
 �+����
�����
 �R� 
� ������� �

%���� ������, ���� ��
���
� ��
� �
 �����
�# @
 �
�� ������
� �
 
���
�� %���� ��
���!�

���

�� ��
� �
��
 ��
:5������
 /

SV (f) = 4kBTR+ (R/R0)4kBTambR
�::#:��

�� T 
�� �� �
��������
 �
 �+����
�����
 
� Tamb
�� �
��������
 � �+
*����
�� �� ��)�����#

@
 �
�� �������
 �
 %���� �
 �� �������
�
 �
 �����������
 ����
 �

 �
��������
 
?
����

�
 %���� /

Teff = T + (R/R0)Tamb
�::#:;�

-
�� �
��


 %�

 �
 %���� ������
� �%�
��� 

 �+�%�

�
 �
 �����
� �
 �����������
 ��� ��:5��
 ::#:<#
@
 �
�� ��
����
� �

 �
��
��
 �� %���� � %���
 ,��!�

�
 � ����
 �� �
��
 

 1/f���� �
 �
��
 �
���

��
� �
 �� ,��!�

�
 9��!�+� :E =�C. �
 %���� ��
���!�
# 2 ���� ����


,��!�

�
 �� ������
 
�� ��
 �� :���
 ����
"%�� ��
������ ��� �� �������
�
 �
 �+����
�����
 
��
� ��������� �� ��
��5
# 1
 %���� 

 �����
� �
� �����:���
��� �
 �

���
 
�� �
���
��%�

�
 �� �
��
��
 �� %���� �� �
���� �
 FE =�C#

11���� �)+!""'-'$# (' .)'$�!  '
2��
� �
 �
���
� �
 %���� 

 ,�
����
 �� �����
� �����!�� � �+����
�����
 
��� 
���

����
� ������� !�
 �� �������
�
 

 ���

���� ��� �� �����
� ��
� �� ���5
 ������
# $


?
� �� �� �������
�
 ����
 ��
� �
 �����
�. �
 %���� ��
���!�
 ���
5
�� �+����
� �+����� ��
,�����
 ::#? �
 !�� �
�� ,����
� �+���������
 �� %���� �
 5�

����
#
��� �� :5��
 �::#:?� 
�� �
����

��
 �+��������
 �� ��
���
 �
 %���� 

 ,�
����
 ��

�����
�# @
 ��
����
 �

 ��5�

�����
 �
 �+�
�

���� �� %���� %��
� ��
� �
 �����
�# 1

%���� �
 5�

����
 �
���� 

 ,�
����
 �� �����
� 
�� � �
� ���� ��
����
 ��
� �

 �

�
 :�:EE
�A�5# ::#:D�# -
 %���� 
�� ��
� ���� ,��%�
 ��� ������� � �
��� ���

�� ���� �
 ��
����
��
��?���,#

:��



���� 2��

� �� 8

�	 �6�� ��� ��
��� �� �6��	
8�� ��9

���� ::#:< � ����� ��
���!�
 � 0.8 ># 1� ����%
 �� ���� %���
 
�� �
 %���� ������
� �
������:���
��� �
 �

���
# 1
� �
�* ����
 ����%
� 

 ������ ��
�
� �
����

�
 �
 %���� 


�

���
 

 ,�
����
 �
 �� ,��!�

�
 ���� �+����
�����
 0� �R = 700 Ω� ��
� 
� ��
� ��
�������
�
 �
 �����������
 �
 100 =Ω# 1
� �����
� 

 ���
������ ��
� �
� %����� ��
���!�
���

���# 1� ����%
 

 ���
������ 
�� �
 %���� �
 0� �����5� �
 �� ,�
����
 �
 ���
�,
�� ��
��
��5
 ��
� �� ,��!�

�
 �
 ������
 
�� 
�����
 � �E =�C#

-
��
 ��������
 ���� �������
�
 �� %���� �
 5�

����
 � �+����
��� ��� �%�
���
 ��
� ���"��
��� ����
� �
� ��������
� ��
� �
 5����
 �=<� �A�5# ::#:=�# 3����
��� ���
���

� �
��

�
7��
 � �+���5�

 �
 �
��
 ,���
 ��������
#
�� @
 �
�� �

�
� � �+�
�
������
 ��
����
 ���
�
. �����������
 ��� �

 ��
5�
�� �


��?����
 le−ph
. !�� �
���� �

 ��������
 �� %���� �
 5�

����
 ��� �
 ,���
�� le−ph/L

# 3���

*���!�
� �� ��������
 �%�
���
 �� ,������� !�
 le−ph



 ������
 ��� 10 
� �
 !�� ������ ����"�

� ���� ,��%�
 � :> 
� � ,��%�
 �����
�# $
 ���������
�. �+�%�
������
 �
 �������
���������
�
����
 ��
� �
� ����
�����
� ��
������ �
 �� �7�
 ��
���
 �
��!�
 !�
 �
��
 ��
5�
�� 
��
%
������ ���� ��
5�
 ��
�� !�
 �+�%�

�
 �
 ��?����
 �
������!�
 ��* ��
�����# 1
 ,��� !�

�� �������
�
 

 ���
5
 ��� ��
� �
 �����
� 
*���� !�
 le−ph

����
�
 � ,��� �����
�#
%� 8

 ����
 �����%�����. ��
� �

 �
��)�
 �
 �)�
 1�
���
�. 
�� !�
 �
 ���
����� ����

%������!�
 � ����
�� �
� 
�
���%
�# @
 ������
 !�
 ���!�
 
�
���%
 i ��
��

� �
�* ��
��*�
 ��
������
 ������������ ��� �
��� ���
�������
� tai 
� tbi . �
 !�� ��


 �

 ��
�����
�
���� �� ����
 /
G = GQ

∑

i

(tai + tbi)
�::#:<�

@
 �
�� ����� 
*����
� �
 %���� �
 5�

����
 �+����� �� ,�����
 �::#:E� ����
 /
SI = 2eGQV

∑

i

[(tai (1 − tai ) + tbi(1 − tbi))]
�::#:?�

-�

�����
� �� �������
�
 
� �� ��������
 �� %���� �
 5�

����
 �� 
�� �����%�
 �
 ������

:�F



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

2
 4
 6
 8
 10


0


5


10


15


T=0.8 K


 


S

 V


 (
1
0

-2

0

  V


2

 /H

z
)


fréquence (kHz)


���� ::#:? � ����� 

 �

���
 

 ,�
����
 �
 �� ,��!�

�
 ���� �+����
�����
 0� ���� ��,",��

�
� ���
��� �
 �����
� 20 . 40 . 50 
� 80 µ2 �
 %�� 

 ����# 1+
��
�� ��� �
� ��

�
�
�� ��

�
 ��� �
 %���� �
� �����:���
��� !�� 
�� �
 1.5 × 10−20 >2��C �A�5 ::#:<�# -

%���� � ��� �
���� � E#D> !��
� 0� � ��9� ��%� �
� �
�* ��
��
�� ���(�� ������� ��
� �

����5����
 ������
����
 �
 �� �������
��������� ��� ���(� �
 ��������* ��5�
�!�
��# -
�
���(�� 
+�
� ��� ���
5� �� ���
�� �
 �� �������
�
 
� �+����
�����
 ����

���� 

���
 �


���
�����
 �������
�������
 

 �
����� �
 100�>#

:��



���� 2��

� �� 8

�	 �6�� ��� ��
��� �� �6��	
8�� ���

���� ::#:D � ����� 

 �����
� 

 ,�
����
 �� �����
� �����!�� ���� �+����
�����
 0� �E#D ># 1� �����
 ��
��
 �� �

�
 2eI/120#

���� ::#:= � ����� �
 5�

����
 

 ,�
����
 �� �����
� � :> ���� F ����
� ��?��

�
�#
$*����� �
 �� ��,��

�
 �=<�#

:�;



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

�
� ���
��� �
� ���
������
� ti # 0� ��
��

� �E ��%
� �
 !�� ����
���
� � DE ��
��* �

��
������
 �� ��*����# 1� �������
�
 �
 620 Ω 
��� ��


 ∑ ti = 20.9 # 1� ��������
��*���� �� %���� �
 5�

����
 
�� �%�

�
 !��
� ���� �
� ��
��* ��
� ���� ���,���
�

�
���
��� ���� ���,���
�

� ,
���� ���, 1 # @
 

 ������ ��
� !�
 �� ����
 ��
��

� 11 ��%
���
����
��� ��
� :E ��
����

� ���,���
�

� 
� 1 � �

 ���
�������
 ������
 �
 0.9 # @
�%��

� ����� �

 ��������
 �� %���� �
 5�

����
 �
 4×10−3 !�� 
�� �
 �
� ���� �������
�
!�
 �
��
 �
����
#
8

 �������
�
 ��������
 
�� ����� �%�

�
 ��
� �
 ��� ���� ���%�%�
 �� �
��
�

� 11��%
� ��
����

� ���� ���� ��
� �

 �7�
 ���
�������
 �����
 �
 1 # @
 �%��

� ����� �

���
�������
 �
 0.95 ��� ��
�� ���
�� 
� �

 ��������
 �� %���� �
 5�

����
 �+�
 ,���
��

�E# 3��� 
*���!�
� ����
��
�

� �
 ,���
�� :EE �� ,��� ��
� ��
�����
� !�
 �
����
� �
 �
�
�� ��
��* ��
� ��
�* ���
��� !�
 �
� ����
� 
� !�
 �� ���
�� �
 �� ���
�������
 
+
�� ���

*���
�

� �� �7�
 ���� ���� ����
 �
 �+� ������� ���� ������:
� �
 ������# -
�

��
�
�� 
�� ����� !�
 �
��
 ��������
 �� %���� �
�� ���� %�

 �+
*���!�
� ��
� �

 ���5
 �� �

���
����� ��
����
�!�
 ��
� 0� �
 ,��� ��
� !�
�!�
� 
�
���%
� �
 �� ����
 
� �
 ,�B�

!����"%������!�
#��$
:
. �
 �
�� ����� �

�
� !�
 �
� 
*�������
� �
 ����5
 
�
"

����
 e∗ = ge �����
���
� �
 ��!���
 �
 1����
5
� 9��

� �
 �(�
 ��
� �
 %���� �
 5�

����
# <�
� �
� 
�
���%
�
�
 � g ≈ 0.3 # 0
�����
� e ��� e∗ ��
� �+�
��)�
 �
�� ���
� � 
*���!�
� �

 �����
 �
 ����������
 �%�
���
# -
�

��
� �7�
 ��
�� �
 ���
����� ���� 7��
 !����"%������!�
 ��� ��,������� �
��!�
� �

 ����5
 e∗ = e/30 ���� 
*���!�
� �� ��������
 ��
� �+�)������
 ��
�
 ���
����� 
�� ��?���,# <
 ���� �� �
�%�
 ���� �+�
���
� !�
 �
��
 ��%��������
 

 ���� ���
9����:� ������!�
�

� ���� �
 
�
���%
 ��


��� � �
� ���
������ �=?�# -
 �������� ����
��

�+�%�

�
 �
 �

�����������
 �
 �� ��
�����
�
 ���� �
 
�
���%
 ��������
 <�#
1+����
�����
 0� 

 �
�� ��
� ��� 7��
 �
��)�� �
 �� �7�
 ��
���
 !�
 �
� ����
�

����
� �������
�������
� ���� �
�!�
�� �
 ���
����� ��
����
�!�
 �
�%�
 ��?���,# -
� ����
"�����
 ����
���
� �+����
��� ��
�* �� �����
 ���
����� ��� �� ������� �� ����� !�� ��

�
�
�!�
�

� 

 �����
 �
� 
�
���%
� %������!�
�#
���� ��������	�
 �� �� �������
����	�	�
 ��� �
��� ��

���
�	��� ����
	����

<�
� �
 %�� �+�����,�
��� �� �������

���
 �
 �� �������
��������� �%�
���
 ��
� �
�

�
���%
� 
��� ���
� ����:� �+����
�����
 0�# 3��� �
�� 
��� ���
� ������ �
� ��%���
�
�
��5�
�!�
� ��� �� ����
 0� �:
 �
 ����:
� �
 ��
���
 �
 ���
�
� �
 %���
 �

�5�
 
� �

�
��
� �+�������
�
 �� ��������
 ����

�� �
 �+����
�����
#
11���1 �'"+)'" (' #)�$"0�)#
;��� ���
� ���� �+�%��� ������ �

 5����
 �
 %

C�

 ��"����� ��� �� ,

�
 

 ����
���
 ��!�
��
 0� 
�� ��
�����# 1
 %�� �
 �
��
 ��
��������
 ����� 
��

��
��
�

� �
 %��!�
�

:�<



���� �
44
������ �� �6 �
4
6����
�	�
�	3 46
 �34�	 �� �6	3
�6
A �
�6���
�� ��C

�
� ���
� �
 ��%�����
 �
 0� 
� ���
5
� �
 ��
���
 �
� ���
�
� �
 ���� %���
 �

�5�
#
;��� ���
� ������ �
��
 ��%���
�
 ��� �� �
��������
 �
 ������:�����
 
�� �
 �:; �-� �
 !��
�
��
� �
 �� �����
� ��
� �
 ���� ���
�* 
� �
 �� ������:
� ���� �
 ����
 ��� �
 ��%
 ��
�
�
 �����
 �����
� �+��� ,����# 1+
?
� �%�

� 
�� ���
C �����

�
� ��� �� �������
�
 �
 0�
��
� �+���� 
����� 
+
�� ��� ���
5�
 %�

 !�
 �� �������
��������� ���� ,���
�

� �?��%��
#
$
 ���������
� �� �
��������
 �����!�
 � ����
�� �
 =E �> � <E �> 
� �
 �����
� �����!�

� ��� ������ ��� � �A�5# ::#�E�#

���� ::#�E � 6��
�����
 �������
�������
 ���
� �������� 
� ����� �����
5�
�� �
 ���(� �

%

C�

 ��"�����# 1� �
��������
 �����!�
 
� �
 �����
� �����!�
 ����
�

�#
;��� ���
� 

����
 �9���� ����
��5
 �
 ������
 ��
� �� ,

�
# <
�* �

�����
� ���"�
����
� �
 ����������
 �� ������������

 �� %

C�

 �
� 

 ,��� 
������

� �� ����
 �



�
���%
� ��
� �

 5�
5�
 �
 ��
*�5��� ����

�
� �� ����
"����
�����
 !�� �!�����

� ��3''2 ������� 

 �����5�����
 ��
����
�!�
# -
�� �+
�� ������� ��� �

 ����������
 ���5�
�"���
 �
 �� �������
��������� ��
� ����
,��� �?
��
� �
 ,�B�
 �������
�
 �� �������
�
 ��
�
�+���� 
����� �A�5# ::#�:� �
 !�� ��5
�:
 

 ���������
� !�
 �
 �������
 
+� ��� ���
5�#

�3���������� �� �6 �
4
6����
�	�
�	3
'7�
 ����!�
 �� �������
��������� �
�%�
 7��
 �������
 �� �
��
 !�
�!�
� ��5

� �
 �
��
"��# $
 
?
� �
 ���� ��� �� :5��
 ::#�� !�
 �� ����
 �
 
�
���%
 ����

�
 ���9���� �

 ,��%�


��5
����������
�
 �������
 ������������!�
 �
� ���������
� �������
�������
�#
�� �
�%�
���� ��
� !�
 �
 ,��� �+
������


� �
� ��%
� ��
� �

 ��%���
�
 ��5�
�!�
 9��


�
 �(�
 
�
 ������� ��� �� �������
���������# �� 
�� �����%�
 
�����

� !�
 �+�
 ��� ������ �
����:
� �
 ��
���
 �
 ���
�
� �
 �� ����
 �
 
�
���%
� �
���
��%�
 �
 �+������
�

� �
�
����
� �
 -���
�# -
�� 
�� �����%�
 ��� �
� ���
�
� �
��!��� ��
� �� ������
 �
 �� �������
�� ����� �<E� ��
� �
� ���
� �
 �
��������
 �
� ��%
� !�� ��
� �
� ���
�
� �+���
C %���


:�?



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

���� ::#�: � $�������
 �
 �� ���
�����
 �������
�������
 �� ����� �
� ��?��

�� ���(��#
<���
����
 ���5�
����
 ���� ����������
 �
 �� ���
�����
 �������
�������
# 2 5����
. ��
�
���(� ��������. �
�(� �
 %

C�

 ��"����� �����
5�
��. ��
��
� 

���)�5
 ��C2H2Cl2

���
���
���� �
�*���
 

���)�5
 ������
��# 2 �����
 �
 �
�����
 �
 �7�
 ����
 �� �
 ���� �
� ����%
�
�
 %�� 

 ����#

���� ::#�� � '�5
����������
�
 �
 �+����
�����
 0� ���
� �
� ��?��

�� ���(�� �©� 
� �����
���� �
� ���(���

�
�#

:�D



����� �����
���� ���

�

�5�
# �� 
�� ����

� !�+�
 
+�?
��
 ��� �
� ���
�
� �
 ����
 �

�5�
 

 �
������
� �

��%
 ����
 �
 �+� ,���# �� �+
�� %�

 �
� 
?
� !�
 �+�
 �%�
��
 ����� �+
*����

�
 �
�����
7��
 ���
���%�
# -
�

��
� 
��� 
+���
� ��� 

���
 ��� ����%�
 �
 

���)
� ����
��
�

�
�� ����
 �
 
�
���%
� �:
 �
 ����:
� !�
 �� �������
��������� ����� %�

 �
������
#
11���� �0'�#)�"��0!' ��-�$
;��� ���
� ��������
�

� ����

�� �

 �����%������
 ��
� 2


 '���
 ��

��
 ����

������
� �
� 
*����

�
� 0���
 ��� �
� ����
� �
 
�
���%
� ����

��� �:
 �
 ����:
� !�

�
 ��
���
 �
 ���
�
� 
�� %�

 ����:� 
� !�
 �+
?
� 
�� ���
���%�
# 3��� �
�� 
��� ���
�
������� �
� �
�%��

� ,�%��!��
� ��� �+�$'; ��
� ��
���� �������!�
 ��� �
�!�
��
� 
���
���
� ������ �

 �����
 �
 !�
�!�
� 
�
�����
� �
 ��%���# 2#'# ��

�� � ,��� ������

�
� ��%
� ��� ->< ���
��
�

� 

 ����
�� �
 �� ,

�
 � ������ �� ��%��� ������ �
 ���� 
�
�+����
# 1
� ���
�
� �
� 

����
 ��� ������������ ��� ��
���������
 0���
# ;��� �����
�
��
�� ��������
� �
� ���
�
� �
 �+����
�����
 �
����� ���� ����� ���(� �
 3''2 
� 

:
 �����
�
 

���)�5
 �� 3''2#
1+�
�

���� 0���
 
�� ,���
�

� �?��%��
 !��
� �
� 
�
���%
� ��
� �
����
�� �
 3''2.

�
�

��
� �� 
�� �����%�
 �
 ������
� �
� �
�

����� �
�����
� �
� ��?��

�
� ���
� 0���

������������!�
� �
� ��?��

�� ���
�# -
� ��������� �������
���
� ��
��

� !�
 �
� ���
� �

�
��������
 �� 
�
���%
 ��
� ,���
�

� �?
���� ��� �
 ���(� �
 3''2 ���!�
 �+�
�

����
�
�����
 �
 �
 ���
 ��� ������� �� ���
 ��
5�����
�� ����
 �
 F#< � E#;# 2���� 

���)�5

�� 3''2 �
 �
�����
 �
 ������� �
 �#-
� 
?
� 
+� ��� ����:� !�
 ���� �� 3''2 
�
 �
���� ���
� �
 

���)�5
# �� �+����

!�
 
��� 
+���
� ��� ������ � 

�
�
� �
 3''2 ����!�+�� 
�� �
����# -
�� 
�� �������
�
��� ��
� ����
� �
� 
*����

�
� �� �
� 
�
���%
� ��
� ��
������ ��� �����5�����
 ��� ��
�
�
����
��� �
 3''2 !�� 
�� 5�
����
�

� �
���� �
 !�� �
�� ��
� 5�

� �+�%�
������
 �

�������
���������#
����� ��
����	�

1
� �
���
� �
 ���
����� ��� �
� ����
� �
 
�
���%
� �
 ���%�

 ����

��
� �
� �
����

�+�%�
��
� �
 �� �������
��������� ��
� �

 �����
 �
 ,��%�
 
��%�
 �
 ��
��* ��E� 

���

9����� ���
�
�
# -
�� � ��� �����%�
 5���
 � �� ������
 �
 ���(� �
� 
�
���%
� �������
�
�
 ���
� !�� �
��
� �+�%�

�� �
� %�
� ��
����� 

��
 �
� 
�
���%
� 
� �
� ��
�����
�#
;��� ���
� ��� 

 ����

�
 �
 �(�
 �� �������
 
� �� 
��%�
 �
 ��%
� ��� �� ���5
��

�
 �� ���
�����
 �������
�������
 ��
�� !�
 ��� �
� ���
��� �
 �
��������
 
� �
 �����
�����!�
 !�� ����

� �
 E#: > � E#; > 
� �
 E#F6 � :#F6# 2���� !�
 ��
� �
 
�
���%
 ��
��������
 ������%�



 
�� �
��
�

� ,���
 !�
 �� ������
 �
� ��!���
� �
 A
��� 

 �+�����!�

����. �� �
�%�
 ��
� !�
 ��
� �

 ����
 �
 
�
���%
� �
� �
�
������
� ��
����
�!�
� ���

�
���
C ����
��
� ���� !�+�

 �
�
������
 ���������
 ���������
 5���
 �� ������5
 ��
����
"���
�
# 2:
 �
 �
��
� �
��
 ���
. 
��� ���
� 
������

�
 �

 ����
 ��
� �
� ��%���
�
�

������� ����������� �
:�=



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

200 1300 1400 1500 1600 1700
0.0

0.5

1.0

1.5

2.0

2.5

ω
D

ωM

t

In
te

ns
ity

 (
ct

s/
s)

Raman shift (cm-1)

 ωMetal

RBM

ωSC

t

150 200 1200 1300 1400 1500 1600 1700
0.00

0.05

0.10

0.15

0.20

ωM

t

ω
D

ωSC

t

In
te

ns
ity

 (
ct

s/
s)

Raman shift (cm-1)

ωMetal

RBM

����������	��
����
�
���

���� ::#�F � $�������
 �� ��
���
 0���
 ���� �� ���(� �
 3''2# ωRBM
����
���
� ��

���
 �
 �
��������
 
� ωt

�� �
 ���
 ��
5

��
�. ��
� �
 ���
 �
 �� ,
����
 �
 5����


#

1
 ���
� �
 �
��������
 
�� %
������ ���� �?
��� ��� �
 3''2#

150 200 1200 1300 1400 1500 1600 1700
0

1

2

3

4

ω
D

ωM

t

In
te

ns
ity

 (
ct

s/
s)

Raman shift (cm-1)

ωMetal

RBM

200 1300 1400 1500 1600 1700
0.0

0.5

1.0

1.5

2.0

2.5

ω
D

ωM

t

In
te

ns
ity

 (
ct

s/
s)

Raman shift (cm-1)

 ωMetal

RBM

ωSC

t

���������	���
� ���
��	�����
��

���� ::#�� � ��
���
 0���
 ����� �
 

���)�5
 �� 3''2 �2# '# ��

��� ������� ��
�7�
 ��
���
 �
����� !�
 ������
��

�# @
 �
�����
 �
 �7�
 ����� �
����, �� ���
 �

�
��������
 
� �� ���
 ��
5

��
� !�+���
� �
 ���(�#

:;E



����� �����
���� ���

��5�
�!�
� �
 !�� � ����:� �� �������
���������# ;��� ���
� ����:� ��� ��
���������

0���
 ��� �+����
� ����
�����
� !�
 �
 �����
�

� ����:
 ����� �
� ���
�
� �
 %���

�

�5�
# -
�� �
�%�
 ��
��
� !�
 �
 ��������
 ����

�� �
 
�� ����
�����
� 
�� �������
�
���� �%�
��
� �� �������
���������# 1
 !�
����
 !�� �
��
 

 ����

� 
�� %�

 �&� �
 ������
�
 !�+�� �
 ����
 ���� �
 ��%
 �
������
�# �� 
+
�� 
�����
�

� ��� �����%�
 !�+�
 ����

�������
����
�� �
 ���
����
 ��
� �
 ��!���
 ��
����
�!�
 �
����

���


�# <
 ���� �
�
�%�
������
� 
*�����

���
� �
��!�

� !�
 �� ���
�����
 
�� �
 ���� 

 ���� ,��%�
 !��
�
�
 
��%�
 �
 ��%
� ��
� �� ����
 ����
�
# -
�

��
� �
� ,���
� ���
��� �
 ���
������
�
�%�
���
� ��� 
?
� �
 ���*����� ��
� �
 ��%
 �
������
� �D=� �
��

� ���9���� �

*���!��
�#
3��� ���
� ���� ���
 ��
� �+�
�
���5����
 �� �(�
 �
� ���
�
� �� ��
��

����� �
 �
���
 ��
���
� �

 ������
 ���
���%�
 �
 ����:�����
 �
� ���
�
�# 3��� �
�� 
��� ���
� ����

��
�

 �����%������
 ��
� 2#'# ��

�� ���� �
� �
���
� �
 ��
���������
 0���
#

:;:



��� �
4
6����
�	�
�	3 ��� ��
��� �� �6��	
8��

:;�



�������� ��

�� ���������� ��� ���������

2���� ����� ���
��� �� �������
��������� ��
� �
� ����
� �
 
�
���%
� ��� �
� �
���
�
�
 ���
����� 
��� ���
� 
���)� �
 �
���
� �� ��5
����
 ��5
���!�
 �
 �� �������
�����"���� / �+
?
� '
���

�# 8
 �������
����
�� ������ � �
 ����� ��5
���!�
 �+
*����
 


����
� �
� �����
�� �+����
��5
 �
 ����
� �
 -���
�# -
�� �
 ������� ��� �

 ����
���%�����
�����5
���!�
 !�� �������� 

 �
����� �
 �� �
��������
 �����!�
 
� �� ����� �����!�
#-
��
 
*����

�
 � ��� �������
 ��� ���� �� �
� ���� �
� 
�
���%
� �
������
�� �
 4� �
�������
 !�� �
�%�

� ����

�
� �
 
?
� '
���

� �����
� �=D�#
1+�
���7� �
 �� �
���
 �+����
�����
 
�� !�+
��
 

 
��
����
 ��� �
 ��
����� ��
����!�
�

,���
�

� �
����,� !�� �
��

� ���!�
� �
� ���������� �
���
��!�
� �
� 
�
���%
�# ;���
���
� �� !�+� ����
 �+�
 
?
� �
 ���*����� �
�
��
 �� �������
��������� 
+
�� ��� ���9����
�%�
���%�
 

 ���
�����# 1
 ���(� �
� ��%
� ��� ���
� �
�� ����� ����:
� �
 �������
 �+�


�
���%
 !�� 
�� �
 ��������
 ���� �������
� ���� �
 ���
����� ��
����
�!�
# <+����

���� �
� �
���
� �+
?
� '
���

� ��
� �

��%�
� � �
� ��������
� ����
 �� ��
5�
�� �

��
�������
 �� ����� �λ� 
� �� �

���� �+��
����
� ���
�����
� �ns

�. ��?��

�� �
 �
�*
!�� ��
� ���
���%�
� 

 ���
�����# -���
 �+
*������
 �� ����� ��5
���!�
 
�� ��
 � �
�
%����
� �
 �����
� ��������
� ��� �
� ����
� �
 -���
�. �
 �+���

� � �
 !�
 �� �
���

�
 ����
���%����� ���� ����� �

��%�
 �� ������5
 	��
����
 

��
 �
� ��%
� ��
������
� �
�
����
�#
;��� ���
� �
���� �
� 
?
� ��
� �
� :%�
� �
 
�
���%
� ,�%��!��
� ��� �+�!���
 �


3# 3����
 �� -033
# 1
� �
���
� �+����
�����
 �
� ��� ,���
� ��
� �
 ��8�< 0A %���

�
��������
 �
 '# @��� 
� A# 1���
� �� �3$-� # -
� :%�
� �
��
��

� �
 �
���
� �+��"��
�����
 �+�
 
��%�
 ����������!�
 �
 
�
���%
� ���5
��# $��
� �
����

� ��
� �?��� ��
�����%����� �
 �
���
 

 ����

�
 �+�
��������
 �
� ���������� �������
�������
� �
� 
�
�"��%
� �
 ���%�

#

������� �� ���	���	� ��! ����� � ������!�
�������� �� �	���
!� ��  ����� �������#� ��� ��� ��

:;F



��� 5� �6��3	���� ��� �6��	
8��

���� :�#: � �
9
����
 �
 �� �������
 �
 
�
���%
� ��
� �
 3>2 

 �������
 ���� ,���
� �
�:%�
� �
 
�
���%
�#

���� ��� ����� �� 
�
������

1
� �
���
� �+����
�����
 �
� ��� �������
� ��� �
� :%�
� �
 ����
� �
 
�
���%
� ����":�
� �
 �)�
 ��3-@ ����� �������
 D�# -
 ��
� ��
� �
� 
�
���%
� ,�%��!��� ��� �

 ����

������
 !�
 �
�* �
����� 

 ���
����� �!�� ��
� �������� ��� �� ������
 �+��� ��
����!�
�#-
� �
�* �)�
� �
 
�
���%
� ������

� �
� �����)�
��� ��5
���!�
� ��?��

�� �A
 ����
�
� ��%
� ��3-@ 
� ;��E ���� �� ������
 ��� ���� 
� �
 �������
 ��?��

�# 1
� ����
�
�%�

�
� ��� �� ������
 ��3-@ ������

� 5�
����
�

� �
 
��%�
 �
 ��%
� �
,���
�� �
�
��
� ,�%��!��
� ��� ���#
1� ����:�����
 �
� 
�
���%
� �+
?
���
 �
 �� ,�B�
 �����
�
 / �
� ��%
� ��
� ����?��

� 300
�- ���� �*)5�

 �:
 �+�*)�
� �
� ��������
� �
 ,
� ���� ��� ��
� ������ � �+����


������)���!�
 
� :����� ���� 

�
�
� �+�*)�
 �
 ,
�# �� �
��
 ����� 

����
 �
% 

 ����
 �


,
�# 1
� ��%
� ��
�� �%�

�� ��
� 

����
 ����
���� ��
� �
 �

���"����,. �
 �<�. ����
5� ��
 �+
��# 1� �������
 
�� �����
 FE ��
��
� ��* �������
� ���� �����
� �
� ����
� �
� �

�
�
� ����
� �
 !�� 

�����5
 ����� �
� ��%
�# 2�
�� ����� �
 �����
�

� �
� ��%
� �
� �


��
5�
�� ��)



 �
 ;EE 
�#	+�� ������� �
� :%�
� ��
� �
 ��%�������
 -033 � ����
��* ��
� �+�!���
 �
 3# 3����

�+����� �� ������
 !�+��� �
� ���
 �� ���
� �==�# 1� ����
����
 �
 
�
���%
� 
�� �����

��
� �

 �
��
5�
 ������
 ��� �
 �
����� �:
 �+�
9
��
� � ��%�� ��
���
� �
 ��
�
 :�
� �


�
���%
� ��
� �
 ������

� 

 �������
 ��
�

�
� �� 3>2 �A�5# :�#:�# 1
 :�
� �
 
�
���%
�

�� 
������ ��� �
 ��* ����
�
� �
 3>2 
� �
� ��%�
� �
 
�
���%
� �
 ,���

� ��
�� ��
�
�
 ������

� �
 3>2# ;��� ���
� 

����
 ��
�� �
� ��%�
� � �+
�� 
� �
� ���
� 

������ ���
�
� ����
� �
 ������ ������ �
 ? �� �
 �(��# 1+���5

�

� ���

�� �
� 
�
���%
� ��
� ��:%�
 
�� ����� �
 ��" 20

�# 2��
� �
 ������
� � �� �
���
 �+����
�����
 �
 �
� ����
�����
�

��� �
� ���
� �
����� � 320

�- � �+��� �

��
� F� �:
 �+

�
�
� �� 5�
5�
 �
 3>2 ������
�
� 
�
���%
�# ;��� ���
� ��
�� ,�%��!�� �
�* ����
� �
 ������ ��
�

�
� �����
 

����
; �5 �
 :%�
 �
 
�
���%
�#-
� ����
�����
� �
��
��

� �
 �
��
� �
 �(�
 �
 �+���

�����
 �� ����� ��� �� ����
�


:;�



���� 5� �
4�
46
6�6��3	���� ��� �6��46
	��
��� �� @�
 ���

������

����	


���	
�������	


���� :�#� � ������ �� ����
 �
 ������ �
 7 ��× 7 �� ��� �
!�
� 
�� 

�����
 �� :%�

�
 !�
�!�
� ��C��

� �
 �����
� �
 �������
# <�
� �+
*����

�
 �
 ����� ��5
���!�
 
��
��
� �
 ���
 �� ����
 !�� �
�� 7��
 ����
� ���� 
?
���
� �
� �
���
� 

 ����� ��������

�� �
��

��������
 ��* ����
� �
 
�
���%
�#

��5
���!�
 �
� ����
� �
 
�
���%
�# <�
� �+
*����

�
 �
 ����� ��5
���!�
 
�� ���9����
��
� �
 ���
 �� ����
 �
 ������ ���� �
 �
�� ����
� �
� :%�
� �
��

��������
�

� ��
��������
�

� �� �����#
���� �� ������������

�	��� ��� 
�
�����	����� �� ���
1
 ��5
�� ���
����� !�
 �+�
 �
���
 ��
� �
� ����
�����
� 
�� �� ����
�
 ��5
���!�


�
 
�
���������
� �
 ,
� �
���
� �
 �����)�
�� ���� �
 �� �������
�
# <�
� �
 ������� ,
�"����5
���!�
 �+�

�5�
 �+����
5
 ,������
 �+���5

�

� �
� ���
� �����
� ��
�����
� � �

����
 ��5
���!�
# '��� �

 ����
 �

�5�
. �+�

�5�
 �+�
��������
. ��
���%�
 � ���5

� �
�
�����

� ��5
���!�
� ��
� �
� ���
����
� �����������
�. �
� ���
����
� �
 ,����
 ����
��"���
# �� 
*���
 �����
��� ���5�

� � �
��
 �
��������
# 1
 ���

��
� ���������
 ����� �� ������5

���
"��%��
 ��


 ��
� � �+�
��������
 ��5
������������

 !�� ����

 ��
� �
� �������* ,
�"����5
���!�
� ������!�
�# 3��� �
� ��������
� 
�
������!�
� ��
������

�. �

 �

�5�

�+�
��������
 �
 ,���
 �������� � ����
 �� ����� ����5
�����
� !��
� �� ,���
 �
 ��
��������
 ��?��
 �
 �� �����
# 2 �
 �
��
 �+�9���
 ����� �

 �

�5�
 �+�
��������
 �
 ���,��

!�� �
�� ����

�� �� ���
�� ���������
 �� �
 ��,���� 

 ���,��
#
<�
� �
 ��� �+�

 
��������
 �+�
��������
 
�� �
��*���
. �� 

 ������
 !�
 �+�

�5�
 �


�� ��������
 ������
 �
�* ��
��� ������� ��� �

 %������
 �+�

�5�
 �+�
��������
 Ea
#-
� �
�* ��
��� ��:
���

� �
�* ���
����
� ������
� �
 ,����
 ����
�����
# ���
� ��

�
��������
 
�� ������
��
 �� �
 �+����
 �
 �� %������
 �+�

�5�
 �
 ���

� ��5
���!�
 �

�� ��������
 �
�� ����
� �+�

 �������
 � �+����
 ��� ���������
 ��
���!�
 ��
� �
 �
���
�
 �
��*����
 /

τ = τ0e
Ea/kBT �:�#:�

1
 ���,���
�� τ0 
�� �
 �+����
 �
 :E−10� �
 !�� 
�� �
�* ����
� �
 5��
�
�� ������
�� � ��
:;;



��� 5� �6��3	���� ��� �6��	
8��

�
��*����
 �+�
 ���
 ��%�
# -
 ���
���

. �
���5�
 �� ������5
�����
 �+�
 ���
 ��%�
. 
��
���
�� ���
�������5
�����
# @
 �
���!�
 !�+

 ,�
����
 �� �
��� �)��!�
 �
 �
���
 �

�+����
�����
 

 �
����� �+�

 �
����

 �
��������
 �
� ��������
� 
+�
� ���� �
 �
��� �

�
��*
� 
� �+����
�����
 ������ %��!��
# @
 �
�� 
����
� �
��
 �
��������
 �
 %����5
 /

kBTBlocage =
Ea

ln( τobs

τ0
)

�:�#��
@
 ���� !�
 �
��
 �
��������
 ���

� 

 ,��� ���� �
� �� �
��� �+��!�������
 !�� 
�� �

!�
�!�
� �
��
�
� ���� �
 ��8�<# 3��� �
� ��������
� �
 ,
� ������!�
� ��
� �+�

�5�

�+�
��������
 
�� �
 48 =	��3 . �
 �
�� 
����
� !�+� �> �
� ��������
� �
 �������
 d > 2nm��
� %��!��
�#
2� �
���� �
 �� �
��������
 �
 %����5
. �� 
+
�� ��� �����%�
 �
 ������
� �
 ,�B�
 
*���


�� ����
���%����� �
 �
��
� ��������
� ��
� �
 ��� 5�
���� �� H .M 
� �+�*
 �
 ,����
 ����
"�����
 ,���

� �
� �
5�
� !�
���
!�
�# -
�

��
� ���� �

 ���
�%��
 �
 
�
���������
�
��
� �
� �*
� ��
� ���

��� �
 ,�B�
 ��������
. �� � ��� ��
��� !�
 �� ��� �
 1�
5
��
 ����
�
� ���
� ����������!�
� 
�� �

 %�


 �����*������
 �:EE�. �
 !�� ��


 /

M(H, T ) = M(H = 0, T = 0)(coth(x) − 1

x
) �:�#F�

��
� x = m0µ0H/kBT
�� m0


�� �
 ���

� ��5
���!�
 ����� ��� ���!�
 ����
#
���� ���

�	��� ��
� ��
��� 
�����

�� 
�� ����� ������!�
�

� !�
 �
� 
�
���%
� ����

�

� �
 ��5
�����
 ��%���� �& �
�
�� ��������
 �
 %�
�
 �����������
 ��:E:. :E�. :EF��#�� �
 ����� 
�� ��������
 � �+�*
 �� ��%
 �
���"�� ���
 �
 ��* Φ ��
� �+�*
 �� 
�
���%
#1
 ���

��
� �
��
�� ������� �� �����. !�� 
�� ����5� �����
� �� �����
,��

�
 �� ��%
. �

�����
 �� �
��
�� �+�
�
 ��
����
�!�
 =

⊥
# 1� ����
 ��������
 �
 ��
5 �
 �� �����
,��

�


�
��

� ��
� k⊥Ch + 2πΦ/Φ0
# -
�� �
 ������� ��� �

 ����:�����
 �
� ��
�����
� ��*

�����
� �
� ,�
����
� �+�
�
� ��
����
�!�
� ��� �� �����
,��

�
 �� ��%
 !�� �
��

� � �����
�
�
� ��5

� �
 =

⊥
��������
� ��
� �� C�

 �
 ��������
 �
 Φ/(RΦ0)

��, A�5# :�#F�#
3��� �
� 
�
���%
� �������!�
� �
� ��5

� !�� ������

� ��� �
 ���
� > 

 �+�%�

�
 �


����� 
+) ����

� ���� 
� �
 5�� �+����
 ��
� �� ��������
 �
 %�
�
# -���
 �� �
�����
 �

����
����
 ���� �� ���
� > 
�� ��
����
. �
 5�� �+����
 ��
����
�

� ��
� �
 ����� �����!��
,����
� ���������
 �
 �
��
 �
 �)�
 �

��
 ��
� �+�

�5�
 ��
����
�!�
 /

E = E0 − gµorbH
�:�#��

�� µorb = evF d
4

�� �
 ���

� ���� ��� �
 ��
����
 �������
� �

 %����
 �
 �����
� ���

�� �����
,��

�
 �� 
�
���%
 �d 
�� �
 �������
 �� ��%
�# -
�� �
 ������� ��� �

 ���"�
���%����� ������5
���!�
 �
 �)�
 -���
 ����
 ���� �
 ���
 ��%�
 �� �
� ���9
����
�
�� ���
 ����
���
�

� ��* �

� �
 �������� �
 �� %����
 �
 �����
�# 3��� �
� 
�
���%
�

:;<



���9 26��3	���� �6�� ��3	6	 ��
�6� ��C

�
��

�⊥

φ
�φ

�

���� :�#F � '���:�����
 �
� ��
�����
� �
 !��
��:�����
 �� �
��
�� �+�
�
 

 �����
��������
 ���� �
 
�
���%
 ��������# $
 ����� ��
�
 �
� �
��
��� �+�
�
� ��������� 

 �����

��# $
 ���
������ �
� ��
�����
� !��
� �
 ��* φ 
�� ��
� �+�*
 �� 
�
���%
#

�
��"��
����
��� �� ��
�����
 �
 5�� �
 �
,
��
 
� �� ����
���%����� 
�� �����5
���!�
 
���
���
�
 

 �
��������
 �:E:�#
$
 ����� �
��

��������
 ��� ��
��
 �� 
+) � ���� �
 ��?��

�
 !���������
 

��
 �
�

��%
� �������!�
� �� �
����
����
���. ��� ����

�

� ���� �
 �������
�

� �����5
���!�

��
���
� 

 �
��������
# -
 �������
�

� 
�� �
��� � �+���������
 �
 
��
��* �
 1�
���
!�� �
 ���
����

� �����
��
�

� ��
� �
 ��� �
� 
�
���%
� ��:�#
1
 ��5
�����
 �
� 
�
���%
� ��
� �+���� 
����� � ��� �
���� 
*�����

���
�

� ��
�

�
 

�
�%�
 ����������!�
 �
 
�
���%
� �������%�
� � �
�* !�
 
��� ���
� �������� ����

�� �
���
� �+����
�����
 �:E�. :EF�# 1+����
 �
 5��
�
�� �
 �� ����
���%����� 
�� �
 4.10−6
���5 � 1  ����# -+
��"�"���
 �
 ��5
�� �
 2.10−8 
�� ���� 
�� ����
�����
� �
 ; �5#
0��
��

� �+���
����
 �+�
 5�� ��
� �
 
�
���%
 �������!�
 

 ����� ��������
 � ���
�%�
���
 ���
��
�

� ���� �
 ��%
 �
������
� �
 � 
� �
 �������
 �:E��# -
�� � ��� �������
��� �
� �
���
� �
 ���
����� ��
� �
�!�
��
� �
 5�� �
 �� ��������
 �
 %�
�
 �
 �������
��� �

 �������
�
 ��
���!�
�

� ������
 
� ��� �
 �����%�
�

� �
� ���� �
 -�����% �
%���
 �
��������
 ����
 ���� �+
?
� �

��
# -
� �
���
�. 

 ������ ��
� �
� ������
�
������

�
�. ��



� �
 ���

� ��5
���!�
 �
 µorb ≈ 10µB

#
-������
� �+����
�����
 !�� 

 ������
���� ��
� �
 ����
�����
 ����
 �
 
(��
 �� �
�

��%
� ��
� ���5
��# @
 �
�� 
����
� !�
 ���� �
 ����
�����
 �
 ; �5 �
 
�
���%
� �
 :#F

� �
 �������
 
� ;EE 
� �
 ��
5. �
 
��%�
 �
 
�
���%
� 
�� �
 !�
�!�
� 1015 # 2 �����
�
 ;

µB
��� ��%
 �
�� 
�
���%
� �
� �
 �������
 � ,��� ���� �
��� !�
 �
�* �
 �� ��,��

�


:;?



��� 5� �6��3	���� ��� �6��	
8��

�:E���. �
 �%��

� �

 ����
���%����� � F> /

χ = C/T = Ntube
µ2

orb

3kBT
≈ 5.10−9emu/Gauss �:�#;�

���� ������ �	���� ���� ������ ��	��
��
1����1 �"#!-�#!�$ ('  � "+"�'0#!&! !#*
3��� 
����
� �+����
 �
 5��
�
�� �� ��5
�� �������
����
�� ���

�� �
 �
�� �������
�

�����
�

� �� ����
�
 �
� 
�
���%
� �� ����� ��5
���!�
 ��
� �+�)������
 �� �� ��
"5�
�� �
 ��
�������
 �� ����� �λ� 
�� ���� 5��
�
 �
��
� �
 
�
���%
# 2:
 �+����
� �������%���
 ��� �� ����� ����5
�����
� 
��� 
��� ���B�
� 

 ����� ��������
 �� ��%
# 1�
!��
���� �
 ����
�

� �
� ����
� �
 -���
� �
 �����
 ����� �� ���

��
� �
��
�� �
��
 ��
��� / p = eA �� A = 1

2
B× r # @
 ��
�����
 �
 
�
���%
 ����
 �
 �)��
��
 ��
�* �
 ��)�
 R��� �
!�
� �
� ����
� ������

� �
� %����
� �
 �����
� ���� ����
�
� �
 �����. �
 !�� ��




�
 ���

� ��5
���!�
 M = IS # �� ��

� ����� M = Ne2

4m
R2B = L

4
(R

λ
)2B ��
� λ2 = m/ne2�� n 
�� �� �

���� �+��
����
� ��� �
��� �
 ��
5�
�� 
� ; �
 
��%�
 ����� �+��
����
� �<:�#

1
 ���

� 
�� ��?��

� �� �
� ����
� �
��

� ��
:
�
� ��� ���!�
 ��%
 �� �� 
��
� �

���������

� ��� �� ����
# �� �
� ��%
� ��
� �
���

��
�� �+����
�����
 �+�

 ����
 �

Nt
��%
� �
�� Nt ×M1tube

# -������
� ���
�

�
� �+����
�����
 ���� �

 ����
 ��
� �
�
��%
� ��
� �������# 1
 
��%�
 �
 ��%
� ��� ����
 
�� ��

� ��� �
 ������� �
� �
����
�
Nt = Sc/St

# 1+����
�����
 
�� �����

Mcorde =
e2

m
(NtN0)NtR

2 = N2
t M1tube

�:�#<�
�� N0


�� �
 
��%�
 �+��
����
� ��� ��%
# 1+
?
� '
���

� 
�� ��
� �����:� ��� �
 
��%�

�
 ��%
� ��
�

�� ��
� �

 ����
#
3��� ; �5 �
 
�
���%
� �
 : 
� �
 �������
 ,����
� �
� ����
� �
 :E 
� �
 �������


�
 �+���

�. ��
� �
��
 �)������
 �� ���� �
� ��
����
� ��������

� � �� �������
���������.
� �

 ����
�����
 �
 2.10−7emu/G �� �
� ��%
� ��
� �
���

��
�� 
� � �
 ��5
�� �
 2.10−5
�� �� �� 
*���
 �
 ������5
 	��
����
 

��
 ��%
� ���� ; �5 �
 
�
���%
�#
1+����
�����
 �
� 
�
���%
� ��
� �
�� ���� 
����� 
�� ��
� %
������ ���� ,��%�
 !�


�+
��������
 !�
 �+�
 �
�� ,���
 �� ��5
�� �������
����
��#
1����� �$!"�#)�0!' ('  �'�'# �'!""$')
@
 �+���

� ����� � ���
��
� �

 �
��������
 ��
� �+
?
� '
���

� �
 �
�� ����
�����
�#

@
 �
�� ���� �+�%��� �

�
� � �
 
?
� �
 ����� ����5
�����
�# $
 
?
� ���� �
 ��������
�������
� �

 ����
���%����� χ 
� �
 ,���
�� �
 ����� ����5
�����
� Nx

��
� �� ���
����

x �& � �� ,���
. �+����
�����
 �+����� /

Mx =
χ

1 +Nxχ
Happ

�:�#?�
:;D



���� 2��

� �� ��6��6�	6	��� ��� �8
�� �� �6��	
8�� ���

@
 ���� %�

 !�
 �
� 
?
� 
�� 
�5��5
�%�
 ��
� 
�� ����
�����
� �� �� �����
 �������
�������

�
 �� ����
���%����� ��5
���!�
 
�� ���� ,��%�
# <
 ���� �� ,���
 �����
 �� ������ ��� �
!�
�
��
� 

������ �
� 
�
���%
� 
� �
 ,��� !�
 �
 ����� ���� ���9���� �����!�� ��
� �
 ���

�
 �
 ����� �����
 

���
 ���� �
� 
?
� ����!�+�
 � �� �7�
 ,���
 5��%��
 ��
� �
� �
�*
���
����
�#
8

 ����
 �
��������
 �
�� �

�� �
 �+��)�����
 �
� %����
� �
 �����
� 
*�����
� �


����� ��5
���!�
# 3��� �����
� �
� 
?
�. �
 �
�� ,���
 �

 �
���5�
 ��
� �
� �����
�� �

A������� !�� 
�����

� �� ��
�������
 �
� �
�
� ��
������5
���!�
� ��
� �
 �����# $


?
� �+�!�����
 �������
� �� ��
�������
 �
 �
� �
�
� 
� �
��
 �������
� �� ��
�������
 ��
����� ��5
���!�
 �
� �� �7�
 ,���
 �� �+�
 ��

��:
 �+������
�� �
 �
�� �δ� 
� �� ��
5�
���
 ��
�������
 �� ����� λ #

∆A+ k2A = 0 �:�#D�
��
� A �
 ���

��
� �
��
�� 
� k = (1 + i)/δ # @
 �%��

� :
��
�

� �

 ����
���%����� � ,������� ,���
 ��
� �� 5�������
 ����� �
��

��������
 �<:�#
8

 ��������
 �
��������
 �
�� �

�� �
 �+�
��������
 �
� �
��
� �
 ���� ��
� �

 ����
#

$
 
?
�. ����
 ��
� �
� ������
� �:E;� �� ��
� �
� �������
���
��� ��5�
�!�
� �:E<�. �+�
�"�������
 

��
 ���� ��������
 �t//
� 
� ���� ���
��
��
 �t⊥� ���� �
 �������
 ��� �

 �
��������


��� λ . �
 ����
 ����� �
 λ//

� λ⊥ # 1
� %����
� �
 �����
� 
*�����
� �
 ����� ��
� ���� 
D"���
� 

 ����� �
��

��������
 ��� 
��
� �
 ,�
� ���
�����
�

� ��� �
� ����� ��
����
�!�
�

�
 ��
5 �
� ��%
� ��
//
� ����� !�+

 ����� ��������
 �
� %����
� �
 ,�
� �
�!�
�

� ��� �
�

����� ��
����
�!�
� �
�
�"��%
 �t⊥�# @
 �+���

� ��
� 

���
 �

 ,��� � �

 ����
���%�����
���� 5��
�
 

 ����� �
��

��������
# -
� 
?
� ���� ����� �
 �������
 ��� �

 �
��������

��
� �
 ����� �����!�
 Hc1

!�� 
�� ��

� ��� Hc1 = φ0/λ
2 #

���� ������ �� ���	��
���	�
 ��� ����� �� 
�
������

;��� ����

��
� ���
�

�
� �
� �
���
� �+����
�����
 �������
� ��� �
� :%�
�# -
� �
"���
� �
� ��� ,���
� ���� �
 ����� ��5
���!�
 ���

�� �
��

��������
�

� �� ��������
"�

� ��* 
�
���%
� �
 �� :%�
#

1��
�1 �' ��� ' (�/�"#*)*"!"
@
 ���� ��� �� :5��
 :�#� !�
 �+����
�����
 �
����
 

 ����� ��������
 �� �
��

����"����
 

��
 "�EE  
� ��EE 
�� ����
�
 ��� �
 ��5
�� ������5
���!�
 �� �����)�
�� �A
�

!�� 
�� �
���
��%�
 �+�
 �)��
 �+�)��������# <�
� �
� �
�* ���. �
 �)��
 
�� �)�����!�
 
� �

����� ��
�����, 
�� �
 65  ����# 1
 ������5
 �� �)��
 

 ����� ��������
 
�� �& �� ,���
!�+�
 ����� �
 �+����
 �� 6
��� � ��� �����!�� ���
� �
 ,���
 �
��
 
*����

�
� �
 !�� � ��
���

�
� �
����

� ��������
� �
 ,�B�
 ���
�
���%�
 � �
��
 �
��������
# ;��� ���
� ����:�
!�
 �
 �)��
 

 ���

� ��� �
 �� �
��������
 

 �������)�
� �
�* ����%
� �+����
�����


����� ��� �� �  �� ���������� �� ��!���� ��  � ������ 
!� � ����  # �� ����� �������� #��
:;=



��� 5� �6��3	���� ��� �6��	
8��

���� :�#� � 2 5����
. ����
�����
 �����
 

 ,�
����
 �� ����� ��5
���!�
 � F> 

 �����
�
��

��������
�?� 
� 

 ����� ��������
����1+����
�����
 ������
��
 � ����� 
���
 
��
��
 � �+����������
 �+�
 ����� �
 !�
�!�
� �
��� ���
� �
��
 �
���
. ���� �
*�
�# 2 �����
.
�������� �
 �� �����������
 �
� ����%
� �+�)�������� �
����
� � F> 
� E#= > 

 �����
��������
# �� 
+) � ���� �+�)�������� ���
���%�
# 1
� �����
� 

 ���
������ ��
� �
� �9���
�

��
��
����
� 

��
 :E 
� :EE 

 ����� ������, 
� 
�5���,# <�
� �
� �
�* ��� �
 �%��

� �

����� ������
� �
 + �� −18G#

� 3 > 
� � 0.9 ># @
 �%��

� ����� �
 ��5
�� �+����
�����
 ������5
���!�
 ��
� �)��������
�A�5# :�#��#
-���
 �� �
�� 
*���
� ��?��

�
� �����
� �
 ��������
� �
���� �
 ,
� �����!�
 9��!�+� �


5��� �5��5���. �
 �����)�
�� ������
 ��?��

�� �)�
� �
 ��
���%����
� � �+����
�����
# ;���
�����%��
� �
� �)�������� � �
� �5��5��� �
 ,
� �
 !�
�!�
� 
�
�����
� ��
� �+����
�����


�� %��!��
 � F ># 1� �����
 
�
 �)�������!�
 �� ��5
�� 
�� �����%��
 � �
� 
�
���������
�
�
 ,
� ���� �
���
� !�� 

 ��
� ��� %��!��
� � �
� �
��������
�# 1
�� ����
�����
. ����

�
 �+� ��. �
�� 7��
 ��������
 ��� �
 ��� �
 -���
 !�� 
�� ��
����
 

 ����� ��5
���!�
#-
�

��
� �
 ���� !�
 �� ����%
 �+����
�����
 �
 �
� ��������
� ����

�
 �

 
�
"��
������� ���� %�� ����� �A�5# :�#��# <�
� �� ����
 
��� ���
� ������ �� �����
 �
 �+����
�����
 !��

+
�� ��� �)�������!�
# 3��� �
��. 
��� ���
� ��
� �
�!�
�

� �
5���� �� �����
 �� ��5
��
!�� ���

� �
 �� �
��������
 � ��!�
��
 ��
���%�

� �
� 
�
���%
� 
� �
� �
���
� ��������
�
�
 �����)�
��#

1��
�� �!-�$#�#!�$ $�$ /�"#*)*#!�+'

1� �����
 �
 �+����
�����
 �
����
 � :E  ���

��
�
 �
 �� �
��������
 
�� ������"5
���!�
# 2 ����
 �
��������
 �
� ��

�
� ��
� %�

 ������
� ��� �

 ��� �
 -���
 

��

3 > 
� 0.7 > ��
� �

 ��������
 � %���
 �
��������
 �:5��
 :�#;�#

:<E



���� 2��

� �� ��6��6�	6	��� ��� �8
�� �� �6��	
8�� ���

1
 2
 3


0


2


4


0
 3
 6
 9
 12
 15


0


2


4


M
(T

)-
M

(3
K

) 
(1

0

-4


  e
m

u
)


Température (K)


H = 10G


 


 


M
-M

(T
m

a
x
) 

1
0


-4

  e

m
u



1/T


���� :�#; � 2���
�����
 

 ,�
����
 �
 �� �
��������
 � :E  

 ����� �
��

��������
#
1� ����%
 

 ����� ��
�
 
�� �+�9���
�

� ��� �

 ��� �
 -���
# $
 

���� �� �7�
 ����%

�����
 

 ,�
����
 �
 1/T # <�
� �
��
 �
����

�����
 �� ��� �
 -���
 
�� ��
����
#

���46
6���� ��� ����3�� � ���3
��	� ��6�4�
;��� ���
� ������� �
��
 �
���
 ���� ��?��

�� ������ ��5
���!�
� 

��
 10  
�

400  # 2:
 �
 ������
� �
� ��

�
� ����
� � ��?��

�� ������ ��5
���!�
�. �� ,���
������
� �� ����
���%�����# -
�

��
� �

 �����
 �������
 �
 �+����
�����
 ��� �
 �����
�����!�� 

 ��D� ���# ;��� ���
� �& �9���
� �
 ����� ������
� �
 18  ���� !�
 �
�
����
���%������ �
 ���
����

� ���� �
� ��?��

�� ������ ��
� �� �����
 �� �� ��� �
 -���


�� ����:�
# 3��� �
� �
���
� 

 ����� 
�5���, 
��� ���
� �& �
��!�
� �
 ����� ������
�
�
 −18  #
��
�	����	 46
 
�� ��� �� �

��
<
 ,�B�
 �!�����

�. �
 �
�� �9���
� �+����
�����
 ��� �

 ��� �
 -���
 �
 �)�
M(H) =

α(H)/T � ����
 �
��������
 ���� ���!�
 ����� �
 !�� ��


 �

 ��
���
�
 �
 -���
 !��
+
�� ��� ���������


��
 �� ����� �����!�� ���� !�� ����
 ����
 α = C(H +Hres
� ��
�

�
 �7�
 ����� ������
� �
 ±:D  # 1� ��� �
 -���
 ��
�� ���
���
�
 ��� �
 �9���
�

�
����
���
� � �
��
 
*�����
 �
 �� �����������
 �
� ����%
� �+����
�����
 !�� 

 ������

��� �
 ��� � ������# @
 �
�� �
��
� �
 ����� ������
� �
��!�� ��
� �� ��� �
 -���
 � ��

�
"��
������ �
 �� ����%
 �+����
�����
 � ,��%�
 �����# $
 
?
� �
 �9���
�

� ��
����
 �
�
��
 ����%
 

��
 10  
� 100  ��
��# "10  
� "100  � ��


 �

 ��� ���� �+����
�����

M(H) ∝ C(H +Hres)

��
� � 
���
�� �
 �7�
 ����� ������
� �
 18  ��
��# "18  � �A�5#
:<:



��� 5� �6��3	���� ��� �6��	
8��

:�#��#
@
 �

�������
 

����
 �+����
�����
 ��� �
��
 ��
���
�
. �
� ����%
� �%�

�
� ��
�

����� ����
� ��

��!�
� � ����
 �
��������
 ��
� !�
 �� ��� �
 -���
 
�� �

 %�


 �����*�"�����
 �A�5# :�#<�# @
 �%�
��
 ����� !�
 �� ��������
 ��� ������� � �� ��� �
 -���
 ����
�

!��
� �
 ����� ��5�

�
 

��
 :E  
� :EE  # $
 �
��
��
. � ���� ,��� ����� �� ������"���
 ��5�

�
 ��
� �
 ����� �����!��# ;��� �%�

�
� 
*���
�

� �
 �7�
 �������
�

�


 ����� �
��

��������
 
� 

 ����� ��������
#
��	�
4
3	6	���
-���
 �+����
�����
 �
����
 � ����
 �
��������
 
�� ��

��!�
 

 ����� ��������



� 

 ����� �
��

��������
 
� %
������ ���� �������
�
 !�
 �
 !�� � ��9� ��� �
����
���� �
� 
�
���%
� �����5����
 ����
�����
 ��
� �+���� 
������. �
 ��5
�� ������5
���!�

��

� ��
� �
� �����
��� �
 ,
� !�� 

 ��
� ��� %��!��
� � �� %���
 �
��������
#
1� ��������
 

 �
����� �
 E#; > �A�5# :�#;� �
�� 7��
 ��
 �� %����5
 �
� �����
���

���
�������5
���!�
� �
 ,
� �� %�

 � �
 �
��
 �����5
���!�
 !�� �+�9���
���� � �� ���
�
 -���
# -+
�� �+��������
 

 ����� ��5
���!�
 �
 �
��
 ���������
 !�� 
��� �
��
�
�
 ,���
 �� �����
����
 

��
 �
� �
�* ���
���

�# $
 
?
� �� �� ���������
 
�� ��
 ��
���
�������5
�����
 
��
 ���� 7��
 �
 ���� 

 ���� ���
�
��
 !��
� ��5�

�
 �
 �����#
3�� ��
��
 �
 ��5
�� �����5
���!�
 �
 �+
?
� '
���

� ���� ����������
 !��
� �
 �����
��5�

�
 ,����
� ��
�� ����������
 �� ���������
#
2�
�� �
 �������
�

� %�� ����� �
 �+����
�����
 ����
���
� � �+
?
� '
���

� �
�

����
� �
 
�
���%
� ����� !�+� ���� ,��� ����� �+��5�

�����
 �
 �� ���������
 �+
*���!�

��� �� ���������
 �
 �+����
�����
 �
� 
�
���������
� �
 ,
�#
2:
 �
 !��
��:
� �� �����
 �������
�������
 �
 �� ����
���%�����. 
��� ���
� ��������� ��

����%
 �
 ����
���%����� ���
���
�
 � =E ��* ����%
� �
 ����
���%����� �
����
� � ���� %��
����� �:
 �
 

 5���
� !�
 �� �����
 �����5
���!�
 �� ��5
��# -
�� 
�� �

 ����"
��������
�� ��5
�� �����5
���!�
 ��� �
 

 ��

� ��� 

 �����
 �
 ,��� !�
 �� ����
���%����� 
�� ����
������
 � =E !�+� :E # @
 ���� ����� �A�5 :�#?� !�
 �� �������
��������� �������� ������
�
 ;EE �> �
 !�� ����
���
� � �� �
��������
 �����!�
 �
����
 ��
� �
� 
*����

�
� �

���
����� ���� ��� �
� 
�
���%
� �
 ,�%�������
 ��?��

�
#
1� �����
 �������
�������
 �
 �� ����
���%����� 
�� ���9���� ���������
�
 ��
� �
 �����


� 
+
�� ���� ���
���%�
 � ������ �
 =E  � ����
 �� ���
�������5
�����
 �� ,
�# -
��
�
�� ��5
�:
� !�
 �
 ����� �����!�
 Hc1


�� �
,���
�� � 10 # -
��
 ���
�� 
�� ���� �
,���
��
�� ����� �����!�
 �
���� 

 ���
����� ����
���
��
� �� ����� �����!�
 Hc2
# -
 ,��%�


Hc1

�� �������%�
 � �
 !�� 
�� �
���� ��
� �
� �������
����
��� ��5�
�!�
� :< �� ��

����
���
� � �� �
��������
 �� ������5
 	��
����
 

��
 �
� ����

� �
����

���


��
�#
2�
�� �
� �
���
� �+����
�����
 �
�%�

� ��
:��
� �� ���������
 �
  �
C��
C �;D� !�� 
��
�
����
 ��
� �<E� �
��
 ��!�
��
 �� �������
��������� �
 ���%����
 ��
� �� ����
 �
 
�
���%
�
5���
 � �
 ������5
 	��
����
 

��
 �
� 
�
���%
�#
<
 ���� �� ���
�� �� ��5
�� �
���� !�� 
�� �
 "2.5×10−6
��� 
�� �
 �+����
 �
 5��
�
���
 �
 !�
 �+�
 � 
����� ��
� �
� ��� �� �
� %����
� �
 ���
������
� ��
� ����������
� ���

����
 �� ����
#
:<�



���� 2��

� �� ��6��6�	6	��� ��� �8
�� �� �6��	
8�� ��9

���� :�#< � 2 5����
. ����
���%���� �
 �+

�
�%�
 �
�
���������
� � 
�
���%
�� � ��?��

�������� ��5
���!�
�# 1
 �����Htot

�� �� ����
 �� ����� �����!�� 
� �� ����� ������
�

�
 18  # 1
� ������ �����!��� ��
� �
 %�� 

 ���� :E  . :;  . �;  . FE  . �E  . ;E  

� =E  # 2 �����
 �� �7�
 ����
���%����� � ���� ,��� �����# 1
� ����%
� 

 ����� ��
�
� �
�
��� ����
� ��
 %�� 

 ����� � :E  . FE  . :EE # 1� ����%
 

© ����
���
� � H = 250 #

<�
� �
� 
*����

�
� 
��� 
+���
� ��� ���
�� �+�
��������
 ��� �
 ��5
�� �������
���"�
��# -
�

��
� �� 
�� ��D���
 �
 ������
� �
� ��

�
� 

��
 �
�* �
,�������
�

�� ���"�
���,� �
 �+����
�����
# 1
 ��5
�� �
���� ��
� �

 
*����

�
 �
 �!��� 
�� �

 ��?��

�

�+����
�����
 

��
 �
�* �������
� �
 �+����
�����
 ��
� �� %�%�

 �� 5���������
# 6���
",��� �� 
�� ��D���
 �
 �+�����
� !�
 �+����
�����
 

 �+
�� ��� ������� ��� �
 ����
"����
�����


��
 �
�* 
*����

�
� ��� �� ���� 7��
 �
����
� � �� ���
# �� �
� 
�� �
 ���. �+����
�����


�� ����� ����� � �

 ����
�� ��?��

�
 ��
� �� %�%�

 �� 5���������
 
� �
 ��5
�� �
����

�� ��5��
�

� ����:�# -
��
 ,��%�
 �
��������
 �
�� ����� 7��
 �
���
 �� ,��� !�
 ����
� �
�
�
���
� ��
� ,���
� �� �
���� �
 �

c1
# 1� ����
���%����� 
�� ��
� ,���
�

� ����
��
 ��
��

!�
 �+�
��������
#
�
���4	�8���	3 � @�
	 ��6�4 �6��3	��
�
-���
 �+
?
� '
���

� 
+
�� ���� ���
���%�
 �� �
�� �
 100 . �
 �
�� �
��)�
� �+����
"�����
 ����
 �

 ���
�%��
 �
 
�
���������
� �
 ,
� ��
� �+����
�����
 
�� %�

 �����*���


��� �

 ��� �
 1�
5
��
 �
!# :�#F�#
2�
�� � ,��� ����� ��5
���!�
 ��EE �. �
 � �� �9���
� �� ����%
 
*�����

���
 �A�5

:�#D� ��
� �

 ,�
����
 �
 1�
5
��
 ����
���
��
� � �
 ���

� ��5
���!�
 �+

����

:EµB

�
 !�� ����
���
� �� ���

� �
 � ����
� �
 ,
�# -�

�����
� �
 ���

� �
 �
��

����
� �
 
��%�
 �+����
� �
 ,
� !�� ��������

� � �� ��� �
 -���
# 1+�9���
�

� ��
����
 �

�� ��� �
 -���
 

 ����� ��5
���!�
 
��� ��


 �

 ��
���
�
 �
 -���
 C � 1.3×10−9 ��#1
 
��%�
 �
 ���

�� ��
���%��
� � �� ��� �
 -���
 
�� N = 3kBC/µ0m

2
0
��
� m0 = 10µB

#-��!�
 ���

� ����
���
��
� 

����
 � �
�* ����
� �
 ,
� �
 

 ������ !�
 1017 ����
���
���%�

�#-
�� 
�� �����

� ��
� �
 
��%�
 �+�����
��� ����

�
� ��
� �+����
�����
# $
 
?
� �%
:<F



��� 5� �6��3	���� ��� �6��	
8��

���� :�#? � ����
���%����� �
� 
�
���%
� 

 ,�
����
 �
 �� �
��������
 � ��?��

�� ������
��5
���!�
�# 1� ����
���%����� � =E  � ��� ���������
#

�
 ,
� ����
���
� � 10−45 �+
�� � ���
 1018 ����
� �
 ,
�#
B��� 
���	 �� ��6�4 
3���
�� �

�� �
��
 � 
*���!�
� ���
�

�
� �
 ,��� ����� ������
� �±18  � !�
 
��� ���
� �%�
���#
;��� ���
� ����:� !�
 �
 ����� 
+
*���
 ��� 

 �+�%�

�
 �
 :%�
� �
 
�
���%
�# -
���"��
�� ��
� � ������ ���� ��� �
� ��������
� �
 �����)�
��# -���
 �
 ����� ���
5
 �
 ��5


������ �
 0 ���� ����
� �
−18 �+18 . �� ,��� !�
 �
 ����� ���� ���� ��� �
� ��������
���
� �+����
�����
 �
 �
����

 ��
� �
 �)��
 �+�)�������� ���� :
 �< 5  �# -
�� ����
���
�
�� �������
�

� �+�
 �������� ,
�����5
���!�
 ���* ����� ,��%�
 ����� ��
�����,�# 1
 ,
�

� �
����
� �
 �
� �������� �
��

� ����

�
� �
 �������
�

� �� �
� ��������
� ��
� ���
C
������

��
� ���� !�
 �
� 
?
�� �
 ���,��
 

 ����


� ��� �+�

�5�
 �+�
��������
#
1��
�� �'"+)' � ('+, *�/�$#!  �$"
2���� ����� ����������� �+����
�����
 �+�
 �
� ����
�����
 
��� 

����5
�
� �
 �
���
�

���
��
�

� �� ��?��

�
 �
 ����
���%����� �
 �
�* ����
�����
� ����
�� �
 =E � �+�
 ���
������� � �+����
 

 �7�
 �
���# 3��� �
�� 
��� ���B�
� �
 ����
�����
 ��
� ���!�
 %�%�


�� 5���������
 �� ��8�<# -���
 �
� %�%�

� ��
� 

�����
� 

 �

� ������� ���� !�

�+����������
 �+�
 ����� 

 ���
 ����
 ��* �� 
��
�� �� ��8�<. �
 �����
� �������
� ��
�
�
� %�%�

� 
�� ���������


� � �� ��?��

�
 �+����
�����
 

��
 �
� �
�* ����
�����
�# ;���
���
� ����:� ���� �
 �
��
 
*����

�
 !�
 �� ��� �
 -���
 �
� �����
��� 
�� �������
# �� ��
��
�

������
 

 �����
��� ��
�� !�
 �� ����
 �
 
�
���%
� ��
� ���
C �����
� ��� �
� �
�*
����
�����
�. �� 
�� ����� �����%�
 �
 �����
� �

 �������
 ��
� �
 5���������
 �
��
 !�
 ��
��� �
 -���
 ���� ���� %�

 ����

��
 ��� �� �����
 ����
 �
��������
# <�
� �
� ��
�����
�

:<�



���� 2��

� �� ��6��6�	6	��� ��� �8
�� �� �6��	
8�� ���

���� :�#D � 2���
�����
 �
����
 � �EE  �◦� 

 ,�
����
 �
 H/T # 1� ����%
 

 ����� ��
�

�� �
 �9���
�

� ��
� �

 ,�
����
 �
 1�
5
��
#

�� �� ����
���%����� �������
�������
 
�� �
�������
 
��
 �
����� ����� 7��
 %
������ ����
�������
�
 ��
�����
�

� � �� ��� �
 -���
 �%�
���
� ��
� �
��
 
*����

�
 !�
 ��
� �
�
�
���
� ��
� �
 �
�� ����
�����
#
$
 ��
������
. 
��� ���
� �
���� �
 
?
� '
���

� �����
� ��
� �
 

�
�%�
 �����"�����!�
 �
 ����
� �
 
�
���%
� �
 ���%�

# 1+��������
 �
 �
 ��5
�� ����
���
� � �



����
 �������
�������
 ����

�
 ��� ����
 �� ����
 �
 
�
���%
�# <
 ���� �� �
�%�
 !�
 �

����� �����!�
 Hc1

�� �)����
 ���� �
,���
�� � :E �
 !�� 
�� �������%�
 ��
� �� ����

�

�
 �����
�� 	��
����
 �
�
�"��%
 ��
� �� ����
 !�� �
��
��

� �+����
�
� �����
��
�

� �
����� ��5
���!�
# $
 �
��
��
 �� 
+� ��� ��� �����%�
 �
 �
���
 

 ����

�
 �

 �
���"�����
 �
 �+
?
� '
���

� !�� �
����� � ������ 
*���
� ����!�
 �
� %����
� �
 �����
� 

 ��
�
��� �!�����

�
� 

 ����� ��������
 �� �
��

��������
#

�� 
�� ����� �������
� �
 ��
:��
� �
� �%�
������
� ��� �
� �
���
� �
 ���
����� ��
�
�
� 
�
���%
� �
 �)�
 ��3-@ !�� ��
� �������� ��
� �
� :%�
�# $
 
?
� ����
 �� ,�%�������

�
 �
� 
�
���%
� 
�� ��?��

�
 �
 �
��
 �
� 
�
���%
� ,�%��!��� ��� ��� ��
����!�
 �����
����5����
 ,�%�������
� �
 �������
 
� �
 �����)�
�� ��5
���!�
 ��
� ��?��

��# @
 � ��
��
� �
� 
*����

�
� �
 ���
����� !�
 �
� ��������
� �
��

� 9��
� �
 �(�
 �������
� ��
�
�+�%�
������
 �
 �� �������
��������� 
� �� 
+
�� ��
� ��� 9����:� � ������ �
 ������
� �
�
�
��������
� 
� �
� ������ �����!�
� �%�
���� ��
� �
� �
�* �)�
� �+����
�����
� ��� �
�*
�
���
� ��?��

�
�#

:<;



��� 5� �6��3	���� ��� �6��	
8��

:<<



�������� ��

�����������

<�
� �
��
 ����
 
��� ���
� ��� 

 ����

�
 �
� ���������� ��
����
�!�
� �
 %���

�

�5�
 
� �� �����

�
 �
 ����
 ��
� �
� ��
����
��� !����"�
����

���


�� ��
�

�
����� �
� �
 ��
��* �
 ��
������
. �
� ����
� �
 
�
���%
� 
� �
� :�� �
 5�C %����

���


�
�+��
����
�#

���� �
����	
��	�
 ��
Lϕ

��
� ��� �
����� �� ��� ���
�
�	����

<�
� �
� ���
��* �
 :�� �������� 

 5�C �< �+��
����
�. 
��� ���
� ��� �� ���
� �



���
��
 ������
 �
��
���
� �
 ���
���

� �� ��
5�
�� �
 �����

�
 �
 ����
 �� �)����

��
� ����
 ��������
 �9����%�
# -
��
 ������
 �
���
 ��� �� ������
 �
 �� �����������

,��%�
. 

 ���������
� �
� ����������
� 2������
�"2��
��"�����=. ��
� �
� 
?
�� 

 ���

�

��
 �� �
��������
 !�
 ��� �� ��
5�
�� �
 �����

�
 �
 ����
# ;��� ���
� ��
��� !�
 ��
�+�
 ��������
 �
� ����������
� 

 �����
�!�
�. �
 ������� �
 �
�* �����
�!�
� 

 ���

�
!�
 �
 Lϕ


� �� ��� �� ���
��# ;��� ���
� ����� �%�

� �

 ��
5�
�� �
 �����

�
 !��
����
 

 ������
�
 −1/3 ��
� �� �
��������
 9��!�+� �; �> ��
� ���������
# -
�� ��55��
!�+� �+�
���� �
� �����* �� 
+
*���
 ��� �
 ����
���
 �
 ���������
 �
���
��!�
 �� �
���
�
 �����

�
 �
 ����
 ��
����
�!�
 9��!�+��* ���� %���
� �
��������
� 
*�����
�#
<
 ,�B�
 �����

�
�
. �� ,���
 �
� ����%
� �
 ��5
���"��
�����
�
 
� �� ��
5�
�� �
�����

�
 !�
 
��� ���
� 
*�����
 
�� !��
�������
�

� ���� %�

 ������
 ��� �

 ������


!�� 
�� ����%�
 ��
� �
� �����* ��
�

�
� �
 5��
� 
��%�
 �
 ��
��* �
 ��
������

����� !�
 
��� ����
� ��
� �

 �����
 �����
 �+�
 �
�� ��
�� 
?
���, �
 ��
������
# 3��
����
��� �� � ��� ���� ���
��

� ������ !�
 ���� �
� ���9
�����
� ��
����
�!�
� ��
���%��
�
��* ����������
� 22�. �� �
��*����
 �
 �� ����
 �� -���
��
 �
����� 7��
 �?
���
 ��� ��
5�������
 �� ���
��# -
�� ��
���� � �

 ���������
�
 
�
"
*��


��
��
 �
� �����
�!�
���
� �� ��
5�
�� �
 �����

�
 �
 ����
 / e−(L/Lϕ)3/2 !�� ����
���
� � �
 �������
�

�


 �
��������
 e−n

√
T # ;�� �
���
� 

 ��
� ��� 

 ������ ��
� �
��
 ���������
. �
 !���
���
 �
�� 7��
 9���
�

� �� ,��%�
 ���

���

����� �
 
�� :��# 2:
 �
 ��
����
. �� ,�������

����:
� 
*�����

���
�

� �
��
 �
�
���
 ���������
 ��� �
� ���
��* �������!�
� !�� ��
�
:<?



��� �����
�����

��
� �� �����
 ���� ��?����
 
� ���
 �
 �� ���
�����
 �����"�����
� �Lϕ = LT
� �7�
 ��* ����

%���
� �
��������
�#

���� ���
����� ��
� ��� ������ �� 
�
������ �� �����
�

1����1 �)�$"0�)# (�$"  �*#�# $�)-� 
1
� �
���
� �
 ���
����� ��� �
� ����
� �
 
�
���%
� �
 ���%�

 ����

��
� �
� �
����

�+�%�
��
� �
 �� �������
��������� ��
� �

 �����
 �
 ,��%�
 
��%�
 �
 ��
��* �!����
�
�
9����� ���
�
�
 ��������
�# -
�� � ��� �����%�
 5���
 � �� ������
 �
 ���(� �
� 
�
�"��%
� �������
� �
 ���
� !�� �
��
� �+�%�

�� �
� %�
� ��
����� 

��
 �
� 
�
���%
� 
� �
�
��
�����
�# <�
� �+���� 
����� 
��� ���
� ��
��� !�
 �� !������ �
� ��
����� ��
�� !�
 �

�������
 �
� ����
� �
 
�
���%
� ��
������� � �
� �������
�

�� ���� ��?��

��# 3��� �
��

��� ���
� ���
����� �
 �����
 �����
 ���� �

��
 �����
 �
 �+
?
� ��� �
 ���
����� ��
������5
 �
�
�"��%
� ��
� �

 ����
# 2:
 �+���
� ���� ���
 ��
� �
��
 ����
 
*�����

���
"�

� �� �
���� �
���
���
� �
 �
���
� �� �������
�
 �+�

 ����
 �����
 ��
� �
 6$' 
� �

�� ����:
� �
 ,�B�
 ��
�����
 5���
 �� ,����
�� �+��
����
� �� ���������
# @
 �������� 

"����
 �� ����
� ��
� �
 ��)����� � �������
 ���� ���� �+��������
 �
� ���������� �
 ���
�����


 ,�
����
 �
 �� �
��������
#
1����� �+0)���$(+�#!	!#* ('" ��)('" (' $�$�#+&'"
;��� ���
� ��� 

 ����

�
 �
 �(�
 �� �������
 
� �� 
��%�
 �
 ��%
� ��� �� ���5
��

�
 �� ���
�����
 �������
�������
 ��
�� !�
 ��� �
� ���
��� �
 �
��������
 
� �
 �����
�����!�
 !�� ����

� �
 E#: > � E#; > 
� �
 E#F6 � :#F6# 2���� !�
 ��
� �
 
�
���%
 ��
��������
 ������%�



 
�� �
��
�

� ,���
 !�
 �� ������
 �
� ��!���
� �
 A
��� 

 �+�����!�

����. �� �
�%�
 !�
 ��
� �

 ����
 �
 
�
���%
� �
� �
�
������
� ��
����
�!�
� ���

� ���
C
����
��
� ���� !�+�

 �
�
������
 ���������
 ���������
 5���
 �� ������5
 ��
����
"���
�
#2:
 �
 �
��
� �
��
 ���
. 
��� ���
� ����:� �
� ���
� �
 ��%�����
 �+�

 ����
 


������
� �

 ��%���
�
 ��5�
�!�
 �%

C�

 ��"������ �
 !�� � ����:� �� �������
���������#;��� ���
� ����:� ��� ��
���������
 0���
 ��� �+����
� ����
�����
� !�
 �
 �����
�

�
����:
 %�

 �
� ���
�
� �
 %���
 �

�5�
# -
�� �
�%�
 ��
��
� !�
 �
 ��������
 ����

��
�
 
�� ����
�����
� 
�� �������
� ���� �%�
��
� �� �������
���������#
1� !�
����
 !�� �
��
 

 ����

� 
�� %�

 �&� �
 ������ �
 !�+�� �
 ����
 ���� �
 ��%


�
������
�# �� 
+
�� 
�����
�

� ��� �����%�
 !�+�
 ����
 �������
����
�� �
 ���
����

��
� �
 ��!���
 ��
����
�!�
 �
����

���


�# <
 ���� 
�� �%�
������
� 
*�����

���
�
�
��!�

� !�
 �� ���
�����
 
�� �
 ���� 

 ���� ,��%�
 !��
� �
 
��%�
 �
 ��%
� ��
� �� ����

����
�
# -
�

��
� �
� ,���
� ���
��� �
 ���
������
� �%�
���
� ��� 
?
� �
 ���*����� ��
�
�
 ��%
 �
������
� �D=� �
��

� ���9���� �

*���!��
�#
3��� ���
� ���� ���
 ��
� �+�
�
���5����
 �
� ���
�
� �� ,��� �
���
 �� ���
� �

 ������


�
 ����:�����
 �� ��
���
 �
� ���
�
� ���
���%�
# 3��� �
�� 
��� ���
� ����

�� �


�����%������
 ��
� 2#'# ��

�� ���� �
� �
���
� �
 ��
���������
 0���
# ;��� ���
�

:<D



�9�� �
6��4�
	 �6�� ��� ��
��� �� �6��	
8�� �� �6
8��� ���

����� ������� �
� �
���
� �
 ���
����� ��� �
 ��%
 ���������� ��


��� �
 �� �7�
 ��
���

���� 
��� 
+���
� ��� ���
�� �
 ��5

� �
 �������
���������#
1����� ��'# �'!""$') ('" ��)('" (' $�$�#+&'"
$
:
 
��� ���
� �
���� �� ��5
����
 �
 �
��
 �������
��������� ��� �� ����
���%�����

��5
���!�
# ;��� ���
� ���
���. 

 ���� �+�

 ,���
 ����
���%����� ������5
���!�
 ��

��* ��������
� �
 �����)�
�� �
 ,
�. �+���������
 �+�
 ��5
�� �����5
���!�
 

 �
����� �
E#;> !�� ��������� �� �
�� �
 100  # -
�� ����
���
� %�

 � �+
?
� '
���

� !�� ��������+
*������
 �� ����� ��5
���!�
 ��� �
� ����
� �
 -���
�# -
�

��
� 
��� 
+���
� ���
���
��� �+�
��������
 ��� �
� 
?
� '
���

� �
 !�� �
�%�
 �����

�
� ��
� �
 �������� �����
�
�������
# �� ,������� ������� � �
���
� �
� 
?
� � ���� %�� ����� ��5
���!�
 �< 10 � ��
�+
?
� '
���

� 
�� ���� �������
� �
 !�� ���
 �
� ���%���
� �
 �

��%����� 
*�����

���
#
3��� �
�� 
��� ���
� ��� �� ���
� �

 ������
 �
 ����

�����
 �������
� �
�* ����
�����
�
���

��� ��?��
��

� !�� �
����� �
��
���
 �
 ������
� �
��
 
*����

�
#

:<=



�C� �����
�����

:?E



������ �

���������� �� ��� ���� ��� ����������
��� ��� ����� ���� �� 
�����
���

<�
� �
��
 �


*
 
��� ��
���
� !�+�

 ���9
�����
 ,
���
 !�� 
+
?
���
 !�
 �
� ���"�����
� ��� �
� %���� �+�
 :� 

5��%
 �
 ��* 
��#

���� 2#: � 6��9
�����
 ��
����
�!�
 �
 ����������
� �
�!�
�

� ��� �
� %���� �� :�#

3��� �
 �������5
���!�
 �
��

��������
 �� :� ������
� C� �
 �
�� ������� �
 ���

��
�
�
��
�� ~A = (0, Bx) �����
� �
� ���
����
� (x, y)# -�
������
� �� ���9
�����
 �
�����5

 ����
��
 1 � 2 
� �������
� �� ����������
 �
 ~A �
 ��
5 �
 �� ��5

 /

φ1,2 =

∫

~A.d~l =

∫

Ay(x)dy
�2#:�

-���
 �� ���9
�����
 �
 �+��
����
 
�� /
y = W

x− x1

x2 − x1

�2#��
:?:



�C� ���
�6	��� �
 �
A ��
� ��� 
3���	���� �

 ��� 8�
�� ��
� �� �
6�	��
��

�
 � ����� /
dy =

W

x2 − x1
dx �2#F�


� �+�
��5���
 �
��

� /

φ1,2 =
BW

x2 − x1

∫ x2

x1

xdx = BW
x2 + x1

2
�2#��

1��� �
 �� ���9
�����
 �
 x2
�
�� x3

. �+���

�����
 �� ���

��
� �
��
�� 
�� ������ ��
������
�

� dy 
� �
 �%��

� /

φ2,3 = −BW x3 + x2

2
�2#;�

1
 ��* �������� ��� �
� �
�* ���9
�����
� 
�� ��
� /

φ1,3 = BW
x1 − x3

2
�2#<�

@
 ���� ��
� %�

 !�
 �
 ��* 

5��%� 

 ���

� !�
 �
 �� �����
�
 

��
 �
 ���
� �
 ������

� �
 ���
� �+������
 ��� �
 �7�
 %��� �� :�# �� �+��
����
 ���� �
 x1


� �
��

� 

 x1
�
 ��*



5��%� 
�� 
��#

:?�



������ �

������������� ��� �������
��� ���
������������ ���

;��� ����
� ����:
� !�
 �� ��
�������
 �� ����� ��5
���!�
 ��
� �
� :�� �� ���
��


 ���
5
 ��� �+���
 �
� �����
�!�
� �
� ����������
� 22�# 3��� �
�� �� ,��� ������ �

�� ,�����
 �F#?�# -
 ���
����
�

� ��


 �
� ��
��
�� �
��
� �
 �� ������������
 �
 ��
��
�����
�
 

 �
��
 �
 A����
� � �
 !�+�
 �
�� �����
 ����
 /

〈σ(Lϕ, φ)〉 =
∞
∑

n=0

fn(Lϕ) cos (4nπφ/φ0)

�� Lϕ


 ���

� ��� �� �����. �
 ��
���
 �
 A����
� ∫ dφe−ikφ〈σ(Lϕ, φ)〉 
�� �

 ����
�
 ���� �
 <���� �+��������
 2πfn(Lϕ) 

 kn = 4nπ/φ0

# @
 �
�� ��

��:
� ���!�
 �
��

�� ���
����
�

� �F#?� ��* ��������
� fn

# @
 � �� !�
 �� ��
�������
 �� ����� ��
� �
�:�� �
 ������� ��� �
 Lϕ

?
���, ��#:�� !�� �� ��


� ��* ���� �

 ���5
�� LϕW/a

2 # 1+���
�� ��� ����
���
��
� � �

 �����
�!�
 fn
�+����� /

∫

fn(k) =
∫

dk
∫

dφ e−ikφ fn(Lϕ(φ))

= 2π
∫

dφ δ(φ) fn(Lϕ(φ))

= 2πfn(Lϕ(0))

��#:�

2�
�� �+���
 �
 �+�����
�!�
 

 ����

�
 �
 ����� ��5
���!�
 
�� 
*���
�

� �5��
 �
�+��������
 �� ��� �
 <���� ������� � �� �7�
 �����
�!�
 !��
� �
 

 ��

� ��� 


�����
 �+
?
� �
 ��
�������
 �� �����#

:?F



�C� ��6
��������	 ��� �6
�����
�� ��� ������6	���� ���

���� �#: � $
 ������ ��
�
� / ���
�,����
 �
 A����
� �6A� �
� ����������
� 22� ���� �
�:�� �
 ���5
�� 
���
# $
 ���
������ / �
� �����
�!�
� �
 �� 6A ��
� ����5�
� � ����
 �
 ��
��
�������
 �� ����� ��
� �
� :��# 1+���
 �
� ���� 
�� ��
�
���
#

:?�



������ �

������� �� ������������� � ��������

6���
� �
� �
���
� �
 ���
����� �������
� ��� �
� ����
� �
 
�
���%
� �
� ��� �������
�
��
� �
 ��)����� � �������
 ��
� 
��� ���
� �& �����
� �
 ����
"����
�����
 
� �
� ��%�
����*���* �
���
� �
 ����
"����
�����
 �� ���� �� ��)�����#

����-#: � ������ �
� ��5� �
���
� � �� ,��� � ��
����
� ��
����!�
�

� 
� :*
� ����
�!�
"�

� �� �
�%��

 ��� ��!�
��
 �
 
�
���%
 
�� ������# 1
� ��5� ,�
� 0.5 �� �
 �������

� ��
� ������ �� ��
*�5���# 1� ,���
 �����!��
 ��� �
 ��
*�5��� 
�� ��� �
 ����� ����� ��� �


��5
 :���
 �
 :#< �� !�� ����
��
 ����� �
 ��
*�5��� 
� 
�� :*�
 �� ����
 ����
�����
#

$
 
?
� �� 
+
�� ��� ,����
 �

 ,��� !�
 �� ����
 �
 
�
���%
 
�� �����
 

 ����
�� �
 ��
,

�
 �
 �
 ��


��
� ��
����!�
�

� � �+����
�����
 
� �
 �
 ���
�

�� ����
�!�
�

� ���
�
 ����
"����
�����
 :*� �� ���
� �
 ���� ,���� �� ��)�����# 3��� ������
� �
�� 
��� ���
�������� �
� ���5�� !�� ��
� �
� %���


�� �
 �������
 0.5 �� ����� � �+�� ��
��� ���

:?;



�C� ��8�6�� �
 
3@
��3
6	�

 � ���
	���

�
����� 
� !�� �
��
��

� � �� ,��� �+����� �
 %�
� ��
����� ��
����!�
� ��
� �� �
�%��



� �
 ���
�

�� �
��
"�� ���!��
 �� ����
"����
�����
 �A�5# -#:�#-��!�
 ��5� 
�� �
��� � �
 ��%�
 ���*��� ��
� �� 5��

 
�� ��
������
 �+�
 ���������
 �

�����
��=
� �
 �������
 
*����
�� 1 ��. �������
 �
����
�� �
 0.6 �� 
� �+�

 ��
5�
��
�+

����
 1.5 �# 1+��
 
�� ��
������
 �+�
 :� �
 ��
5�
�
 5��
� �����
 �
 0.2 ��# -
���%�
� �
��
��

� �
 :���
� �
 ��)�


�

� ��
������5
���!�
 ����
 ,��!�

�
 5���
 ��:���
 0- ���� ��� �� �������
�
 �
 �+��
 
� �� �������� 

��
 �+��
 
� �� 5��

#1
 �������
�


�� �
 50 Ω�� 
� �� �������� �����
 
�� �
 500 �A# ;��� ���
� �
���� �

 ����
�����
�
 40 ���� � 2.7  �C �
 !�� ����
���
� ��* ��%�
� ����
�����* 6�
������* 3������#-
�� �
��
� �
 �����
� �
 %���� ��
���!�
 ���� ��� �
 ��)�


�

� ��
������5
���!�
 !��
��

� ����?
� �
� ��
����
� �
 �+����
�����
 
� �����
 �� �
��������
 ��
���� !�
 �+�
 �
��
���
�
��
# ;��� ���
� ����� ����
� 
�� ��%�
� �:
 �
 ��������
� �+��
 
� �� 5��

 ����
��5�

�
� �� �������� �
� ��%�
� 
� �������
� �
 :����5
 ���� ����� ���� !�
 �+��
 ����
��
�* ��
�������
# $
 
?
� �
� ��%�
� ��
� ��
�������� ��� �� 5��

 

 �����
��� 

������
�� ��)����� ���� �� 
�� �������
� !�
 �+��
 ����� �
 ��
������
 �:
 �
 

 ��� �
9
��
� �
�
��
����
� �
 ���� ����
 �
��������
 ��
� �+����
�����
 ,����#

:?<



�������������

�:� �# <����. �
�������� ��������� �� ���������� �������. 8
��
����) 3�
��. -��%���5
.
:==;#

��� 0# 1�
���
�. ��' 	# 0
�# A
� �. ��F �:=;?�#
�F� �# ��: �
� �# 	# ������C. 6��
����� �
 �
 �
����5


��� �
�
�����
5 @

"<��

���
�� �)��
�. 3�)�# 0
�# � ������. 0:?E�E �:==;�#
��� '# 3# A���
� �
� 1# �#  ��C��
. 6��
����� �
 @

 <��

���
�� 1����
5
� 1�!���.
��
�"����=<:EEF? #

�;� �# ��=���. 2# 1��=�
. �
� E# ;�5��=�. 3��5# 6�
��# 3�)�# �9. ?E? �:=DE�#
�<� A# 3�
��
. 2# �#  ��5��. 2# 2
����
. �# 3����
�. <# $��
�
. �
� ;# @# ���5
. 3�)�#
0
�# � ��. ED;�:F ��EEF�#

�?� 3# 2# 1

 �
� 2# <# ���

. 8
��
���� -�
�����
�
 A���������
� �
 '
����. 3�)�#
0
�# 1
��# ���:;�. :<�� �:=D;�#

�D� �# 1# 2�+�����
�. A���������
� �
 ��
 
*���
��� ��
��������) �, ������
�
� ��
�������.	$63 1
��# ���:��. <�D �:=D;�#
�=� �# 1# 2������
� �
� 2#  # 2��
��. '�5

���
�����
�
 �, 6��
 A���� �
� �,	��
� �

� 1�
5�����
�� '�5

��� A�
��. 	$63 1
��# 99�:E�. �== �:=D:�#

�:E� -# �


�==
� �
� �# ># ����

. ���
���) �����
��
5 �
� 	
�= 1�����C����
 �,
$�
����
� �
 � '�5

��� A�
��. 3�)�# 0
�# �# 9�. F�F� �:=DD�#

�::� �# 1# 2������
�. 2#  # 2��
��. �
� �# �# �����=. 3��+�� ��# $=��# 6
��# A�C#�	$631
�� 9. =� �:=D:�� 99. :E: �:=D:�#
�:�� <# E# ������
 �
� E�# ># ������
. 3��+�� ��# $=��# 6
��# A�C# �	$63 1
��# 9�. �?�

�:=D:�� 9�. �D; �:=D:�#
�:F� 2# <# ���

. 3�)�# 0
�# 1
��# ��. �<=� �:=D;�#
�:�� �# 	���%��
. -# 3# 8�%���. 0# �# 1��%����C. �
� 0# 2# 	
%%. 3�)�# 0
�# � 9�.

�?D= �:=D;�#
�:;� �# 1# 2������
�. 2#  # 2��
��. �
� <# $# >��
�
���=). 	# 3�)�# - / ����� ��# 3�)�#��. ?F<? �:=D��#
�:<� $# 2==
���
� �
�  # '�
���%��*. �������� �	���������� ��� �
������� �� ���

�������. -;0�"�
�
�
�����
 
�����
. �EE�#
:??



�C� ���5���������

�:?� $# 2%������. 3# 2
�
���
. <# 1�������
���. �
� 6# 0���=����
�
. 3�)�# 0
�# 1
��#
��. <?F �:=?=�#

�:D� 3# '���
�). $# 	�������. �
� 0#	
%%. 3�)�# 0
�# 1
��# C�. FF<< �:==?�#
�:=� 	# 	# 1�
 �
� 	# 3# ����. 0
�

� $*�
���

��� �����
� �, $�
����
 <
�����
5 �


'
��� �
� �
����
������ '
�������� ��������
�. 	# 3�)�# / -�
�

�# '���
� ��.;E: ��EE��#
��E� �# 0
��
�. �# ��������. �
� <# '����). $�����)�# 1
��# 9��;"<�. FE;�F:E �:==;�#
��:� 2#  # ���%
��. 	# 2# A��=. �# 0# 3��
�. -# '# '�����. -# �# <����C. �
� 	# �# ������.	�. 1��"6
��
�����
 ���������
 �, ��
 <
�����
5 6��
 �
� $?
��� �, '�������
0�������
 �
 @�

 ���
��� <���. 3�)�# 0
�# 1
�� �9. ;E=E �:===�#
���� �# <��B�� �
� 0# 0�����. ���
��� @���������
� �
 ;�����"'
��� ;
����=. 3�)�#0
�# 1
��# ��. ::�D �:=D;�#
��F� �# <��B�� �
� 0# 0�����. �
�
�,
�

�
 $?
�� �
� '�5

��"0
�����
�
 @���������
��
 ;����� '
��� ;
����=�. 	# 3�)��!�
 �C. =?F�=== �:=D<�#
���� '# 3������ �
�  # '�
���%��*. 3
�����

� -���

�� �
 ;
����=�. 3�)�# 0
�# 1
��#

��. �;:� �:===�#
��;� 	# 3# 0���. ��
���
 <� 1������

 ��� �
  ����
. -#0# 2���# ��# 3���� ���. ?=F

�:=DF�#
��<� $# 2==
���
�. 2# -���
�. 	# <
�%���.  # '�
���%��*. �
� -# 6
*�
�. @
 ��


��
����� <
�
���
�
� �, ���
���  �����. 2

# 3�)�# ���. :E�;: ��EEE�#
��?� '# A
���
�. 1# 2
5
��. �#  ����
. �# ��������. -# 6
*�
�.  # '�
���%��*. �
�

<# '����). <��
�� '
����
�

� �, ��
 3���
 -��
�

�
 1

5�� �
 �  �2�� �2�2�
�!���
 ;
����=. -�
�"����E�E�;F� ��EE��#

��D� �# 3�


��
�. 	# -�����). 0# 0�����. �
� 3#  �
���. '�5

��� A��* ���
��C����

�
 ��
 	
�="1�����C����
 0
5��
 �, � ;�
���
���
�����
5 '
���. 3�)�# 0
�# 1
��#
�9. ?:D �:=D��#

��=�  # 	# <���
. 	# -# 1���
�. �
� <# 	# ������. ���
��� �
�
�,
�

�
 $?
��� �
 1������
0�
5 2���)�. 3�)�# 0
�# 1
�� ��. :�=F �:=D<�#

�FE� 6# 	# 6���
��
. '# 3
��
�. �# 2��
�. <# 2
��
��. �
�  # 	# <���
�. 3�)�# 0
�#
1
�� ��. ::=D �:=D<�#

�F:� E�# �# >����
. '# $#  
���

��
. �
� 2# 1# ��5��
��. 3�)�# 0
�# 1
�� ��. :E<<
�:==D�#

�F�� -# >����=. 2# '# -��
5. 2# -��
. �
� 6# E# -��
5. 3�)�# 0
�# � ��. <D�< �:==��#
�FF� ;#	# 2�����,� �
� ;# <# '
���
. ��
�� ����� �������#
�F�� �# ># ����

. -# 	# 	# �


�==
�. �# >�
 	

�. �
� 	# $# '���9 . ���,# ���# ���.

:�� �:=DD�#
�F;� 6# 1����5 �
� 2# <# '����
. '
�������� 2����
��"���� @���������
� �
 '
������

0�
5�. ��
�"����EF:�;?? ��EEF�#
:?D



���5��������� �C�

�F<� �# 1# 2������
�. <# $# >��
�
��C=��. 2# 1��=�
. �
� 3# 2# 1

. '�5

���
�����
�

�
� ���� $?
�� �
 � <�����
�
� 6��"<��

���
�� $�
����
  ��. 3�)�# 0
�# � ��.;:�� �:=DE�#

�F?� �# ��9���. ;����
 ��. :;� �:==:�#
�FD� -# 1# >�

 �
� $# 	# '
�
. 3�)�# 0
�# 1
�� C�. :=F� �:==?�#
�F=� -# ����. 	# >�
5. �
� �# <��. 3�)�# 0
�# 1
�� ��. ;<E� ��EEE�#
��E� '# @�)�
5. 	# 1# ���
5. -# 1# -�
�
5. �
� -# '# 1�
%
�. ���

�
 ���. ?E� ��EE:�#
��:� '# <�
��
�����.  # <�
��
�����. �
� 3# $=��
�. ������� �� ��

������ ��� ������

���������. 2���
��� 3�
��. ��
 <�
5�. -2. :==<#
���� 	# 	# '�
����
. �# �# <�
���. �
� -# 6#	���
. 2�
 A���
�


 6�%��
� '
������ �.

3�)�# 0
�# 1
��# ���;�. <F: �:==��#
��F� �#  ��%
��. 6��
����� �
 ��
5�
 -��


� ���
��� 	��
�. ��
�"����E:E?:?; . �����
�� �
 $*���� ����
 �
 !��
��� 
�
���������
 
�# %) �# ���=��. >���
�. <����
���#
���� -# �


�==
�. 0
��
�� �, '��
�
 3�)���� ���F�. ?F: �:==?�#
��;� '# ���=����. <# -�%�

. 	# 1��. 2# 0�
C�
�. 0# �����
). 1# ���

��. �
� 3# '�$�

.

;����
 9�C. ;=D �:===�#
��<� �# E��. �# 3�����. 1# ���

��. �
� -# <
==
�. ;����
 ���. �?F �:===�#
��?� 2# ��������. '# �
 	�
5
. >#  ���
"0������

. 3# '�$�

. '# ����
����. �
�-# ����


%
�5
�. �����
����
 �, 6�


��
5 �
 '�������� -��%�
 ;�
���%
�. 3�)�#

0
�# 1
�� �C�:<�. :<<DE: ��EE:�#
��D� �# ����� �� �
 . <��
�� @%�
������
 �, 6���
�5� 1����
5
� 1�!��� ����
 �
 -��%�


;�
���%
� �� 1�� 6
��
�����
. ;����
 ���. ;�E ��EEF�#
��=� �# 0��,. 6# 3����
�. '# >
��,
�. 	# A�
=. �
� �# >������. 6��
�����
 ,��� �

6���
�5�"1����
5
� 1�!��� �� � A
��� 1�!��� �
 3�������� �
�
������
� ��
��
�
�, ��
5�
	��� -��%�
 ;�
���%
�. ��
�"����E�E�;F; #

�;E� '# A
���
�. 2# �
 '����
�. 2# >������. �#  ����
. '# >����=. 0# $55
�. �
� �# ���"�����. ���
���
��������) �
 0��
� �, -��%�
 ;�
���%
�. �����# ����# ����# ��EE��#
�;:� �# 	# ������C. 3�)�# 0
�# � �9. 0�=;= �:==<�#
�;�� 0# $55
� �
� 2# @#  �5���
. $?
����
 1��"$

�5) 6�
��) ,�� -���
���
� -��%�
;�
���%
�#. 3�)�# 0
�# 1
��# C���;�. ;ED� �:==?�#
�;F� $# 3
�,
���.  # ��
,�
����. �
� '# -�
�. 	�

E 3����
5 �
 �;.;� -��%�
 ;�
���%
�
2��) ,��� ���, A����
5#. 3�)�# 0
�# � ��. :<;�F� ��EE��#

�;�� 2# ����=�. 6���
 �
 �+�
��
����� �
 ��
�%���=
 #
�;;� 2# <# '����
� �
� 0# $55
�. 2�������� 3��
�
 $*���
5
. 2��������
� �
�
������
�.

�
� ��
 	

�C
�"����


 ��
5������) �
 ��
5�
 	��� ;�
���%
�#. 3�)�# 0
�# � �C.
�F;�:D ��EEF�#

�;<� <# 1��� �
� 6# '����
. 3�)�# 0
�# � ��. :�:<E �:==��#
:?=



��� ���5���������

�;?� 2# ����=�. 1#  # -���
. �
� -# ����%�

���. ���
���
��������) �
 2������� -��%�

;�
���%
�#. 3�)�# 0
�# � ��. :�E;:; ��EE��#

�;D� 	#  �
C��
C. '���������� '��
� �, ���
���
��������) �
 -��%�
 ;�
���%
�#. 3�)�#
0
�# 1
��# ���?�. ?<�EF ��EE��#

�;=� 	#  �
C��
C. ���
���
��������) �
 -��%�
 ;�
���%
 0��
�. 3�)�# 0
�# � �C. E:�;�D
��EEF�#

�<E� 2# <# '����
� �
� 0# $55
�. ���
���
��������) �
 -��%�
 ;�
���%
 0��
� /
 �
C%��5"1�
��� 2������� �
� ��
 0��
 �, ���
��� 3���
 �����#. ��
�"����EFED:<� ��EEF�#

�<:� 1# 1�
��� �
� $# '# 1�,����C. �
������������� �� ���������� �����#
�<�� 	# �# 1�
5
� �
� ># 2�%
5��=��. �
���
��� 0
������
 6��
�����
 �
 ;����� ���
���
"�����
5 -��


��. 3�)�# 0
� ���. �=D �:=<?�#
�<F� '# 6�
=���. ������������ �� �����������������. '� ���"����. ��
5����
. �
� 
��"���
. :==<#
�<�� ;#  �����
�. <��������
 �
 � @

"<��

���
�� ���
���
������ / $���

�
 ,�� '�"��������!�
 ���
��� 6�


��
5. 3�)�# 0
�# � ��. <F;E �:==E�#
�<;� -# 	���

�. 	# '��
�. 3# �
�
�
�. 2# 1���
��. '# 1# �
 �� -���
��
. �# 1
,��
�.

3# <

����. 0# 1

. �
� 	# A���
�. ;����
 9��. ?;< �:==?�#
�<<� 1# >������
�. -#  �C
. 0# 2C
��. ># '�����
�. -# 	���

�. 3# �
�
�
�. ># '
�

�
�.

A# �
5��
. 	#  �����
�. �
� 2# 1���
��. 3���:�����
 <
� ;�
���%
� �
 -��%�


'�
�,
����
��. -# 0# 2���# ���# 3���� 9�C. =�; �:===�#

�<?� '# 	# ���
�=���=�. 3# 2# 	�����. <# 6# -��%
��. ># 2# �����. �
� 0# $# �����
).
 ��"3���
 3��������
 �, -��%�
 ��
5�
 	���
� ;�
���%
� ,��� -��%�
 '�
�*��
>�� ��
 ��3�� 3���
�� / 2 3����
���� ����). 	# >��# ���# 6
��
��# 2 ����� ��EE:�#

�<D� '# $#  
���

��
. E�# �# >����
. 2#  # '�=������=. �# '# ��C�
�. �
� 2# 1# ��5"��
��. 3�)�# 0
�# 1
��# C�. ?�; �:==?�#
�<=� 6# 	# @���. 	#"1# ���
5. -# 1# -�
�
5. �
� -# '# 1�
%
�. '�5

��� -����
� �
��
5�
"	���
� -��%�
 ;�
���%
� / 6�
 >�
�� $?
�� �
 � @

 <��

���
�� ����.���

�
 ���. :;�= ��EEE�#
�?E�  # �
5��� �
� E�# ># ;�C����. -�����% ����=��
 3�

��

� �
 ;�
���������
. �


����
� ������ �����
���. 
���
� %) �#  ��%
�� �
� '# <
���
�. 3�

��. ;
� E��=.
:==�#

�?:� 2# 1
�)"E
)���. 2# '����
"0��
��. <# $��
�
. �
� -# 8�%�
�. <��
�� 1�
= �
��


-�����% ����=��
 �
� ���� ;���
 �
 � ���
���"-��
�

� ��������
. 3�)�# 0
�#1
�� �C���. E�<DE� ��EE:�#
�?�� A# <����
�. �#  ��%
��. �# ��:. �
� �# 6���C
��
�. @���������) ;�
"1�

�� -�
���"��
�
 �, �
 �
�
�����
5 ���
���	��
 ���� �
 �������). ��
�"����EF:::<D ��EEF�#
�?F� 2# '�����,. -# >�

. �
� $# '
�
. 3�)�# 0
�# � ���:<�. :::;< ��EEE�#

:DE



���5��������� ���

�?�� 3# <
��

). �# 	# -���. 	# ���. �#  # 1���
. �
� '# 1# -��

. ���=

 �)��
��)
�
� 3�
���5��� �
 0��
� �, -��%�
 ;�
���%
�. ;����
 9��. �<< �:==D�#

�?;� -# 6#	���
 �
� 6# ;# 6������. -��%�
 ;�
���%
� �� 1�
5 ��������� -�
�������.
;����
 9�9. ��E �:==D�#

�?<� ># ;# 3��5���
 �
� ># �# $,
���. 1�����C����
 6��
�����
 �
 � 0�
��� ;
����= �,
'
������	��
� / 2 '��
� ,�� ��5��) -�
�����
5 3��)�
��. 3�)�# 0
�# 1
�� C�. �=F�
�:==F�#

�??� �# ���%
��=�. �# ;# $��
5
���. �
� $# ;# $��
����. 6�
 2
�
���
 6��
�����
 �

� '��
� �, -����
� 0�
��� 3��)�
� -���
�. 	# 3�)�# / -�
�

�# '���
� �. <E;
�:==<�#

�?D� ;# <�����. '
���"�
������� 6��
�����
 �
 ��5��) -�
�����
5 @��

�
� 3��)�
��.3�)�# 0
�# � ��. FED< �:==?�#
�?=� 	# 6# $������ �
� <# 	# 6����
��. ;��
����� �����
� �, 1�����C����
 �
 <�����
�
�

�)��
��. 	# 3�)�# - / ����� ����
 3�)� �. DE? �:=?��#
�DE� '# >����=. 2# >������. �#  ����
. �# 0
��
�. �# �# >�����. E# �#  ��%����. ># 6#>��=��. 1# >������
�. �
� �# ��������. 3�)�# 0
�# 1
��# ���::�. ��:< ��EE:�#
�D:� 2# >������. '# >����=. '# A
���
�. 0# <
%���=. �#  ����
. �# 0
��
�. �# >�����.

@# ������
. �
� �# ��������. ���
��� 6��
����� 6����5� -��%�
 ;�
���%
� /
3��*����)"�
���
� �
� �
���
��� ���
���
��������). 3�)�# 0
�# � ��. �:�;�: ��EEF�#

�D�� 	# �
�C�5. -# ����
�. �
�  # ����
. 3�)�# �
�# � ��. =��F �:==<�#
�DF�  # 0# ���5����. 2# �# >
�%��55

. 	# �
�C�5. �
� 6# '# >�����9=. 0
�����
�
 �,���
���
�����
5 ;�
����
� -�


��
� �� ;����� '
��� 1
���. ��
�"����E�E:F<�

��EE��#
�D�� ;# <# '
���
 �
� �# 	�5

�. 2%�

�
 �, A
�����5

���� �� 2
��,
�����5

����

�
 @

" �� 6��" <��

���
�� ��������� �
��

%
�5 '��
��#. 3�)�# 0
�# 1
�� �C. ::FF
�:=<<�#

�D;� 0# �����. �# ��
�). �
� ># 2�%
5��=��. 3�)�# 0
�# � �9. E=�;:F ��EE:�#
�D<� ;#  �����
�. 3�)�# 0
�# � �9. :<E�:?� �:==:�#
�D?� 	# 0���9
. 6# '# >�����9=. '# 	# 0



. �
� 	# $# '���9 . 3�)�# 0
�# � ��. F<�D

�:=D��#
�DD� 	# ����


. 0
�# '��# 3�)�# 9�. <<? �:=<��#
�D=� 2# >������. 0# <
%���=. '# >����=. �# 0
��
�. �# ��������. �# >�����.E#  ��%����.># >��=��. -# 	���

�. �
� '# ���5����. ���

�
 ���. :;ED �:===�#
�=E� ;# 2=��%��

. ��������� �� ����� ����� �� ��������������� ���������

�������
2
�
�

4

����
����� �	�������	. 3�< ��
���. 8
��
����� 3���� 4�. �EE�#
�=:� 	# 	��
��
. 3�)�# 0
�# 9�. =? �:=�D�#
�=�� �# ;)!����. 3�)�# 0
�# 9�. ::E �:=�D�#

:D:



��� ���5���������

�=F� E�# '# ���
�
� �
� '# �����=
�. ���� ;���
 �
 '
�������� -�
�������. 3�)�# 0
�99� ��EEE�#
�=�� 	# ������=). 2

# 3�)�# �C. ;�: �:=:D�#
�=;� -#	# 	# �


�==
� �
� '# �����=
�. �����
����
 �, ���� 
���
 �
 �
������ ��?����


��
�������. 3�)�# 0
�# � ���F�. :DD= �:==��#
�=<� 3# $# 0���
. '# >����=. �#  ����
. 2# >������. �# 0
��
�. �
� �# ��������. >
�)

1�� ���� ;���
 �
 -��%�
 ;�
���%
�. $��# 3�)�# 	# � ��. �:? ��EE��#
�=?� �# 6���C
��
�. 0# $55
�. �
� �#  ��%
��. -�����% <��5 ���� ;���
 �
 -����
�

1����
5
� 1�!����. 3�)�# 0
�# 1
�� ���::�. ::<�E: ��EE��#
�=D� �# 6�
5. 1# ���
5. ;# 	�
5. 4# ���
5.  # 	

.  # 1�. 	# 	�
5. -# -��
. �
�

3# ��

5. ���
���
��������) �
 � 2
5����� ��
5�
"	���
� -��%�
 ;�
���%
�.���

�
 ���. ��<����<; ��EE:�#
�==� �# >�5���. 2# 3�
�����. -# -����
. -# ����
�. 0# 3����
�. -# 	���

�. 3# �
�
�
�. �
�

3# 3����
. '���������� A�%
�� �
� 0�%%�
� �, @��

�
� -��%�
 ;�
���%
�#. ���

�

���. :FF: ��EEE�#

�:EE� -# 3# �
�
 �
� 	# <# 1���
5���
. 	# 2���# 3�)�# 9�. :�E� �:=;=�#
�:E:� 	# 3# 1�. ;��
� '�5

��� 3���
���
� �, -��%�
 ;�
���%
�. 3�)�# 0
�# 1
��# C��?�.

::�F�::�< �:==;�#
�:E�� 2# 3# 0����
C. 0# -# �����
. @# ����. 0# A�
��
5. 	# ���
5. �# '# '�-���
. �
�

0# �����
). '�5

��� ����
���%����) �, '��
����� -��%�
 / ;�
���%
� �
� A���
���
.
���

�
 ���. D��D< �:==��#

�:EF� 4# >#	�
5. 0# -��
5. 2# 3������
�=�. �
� 	# >
��
���
. '�5

��� ����
���%����) �,���=)��%
�. 	# '��
�# 0
�# ��<�. :;?D�:;D� �:==��#
�:E�� $# <# '�
��. E# E����. ># ��C�
���. �
� 3# 1# '�$�

. '
�����
5 $�
����
 @�%����

'�5

��� '��

�� �
 -��%�
 ;�
���%
�. ��
�"����E�E���; ��EE��#
�:E;� 1#  �
���
. ������� ��� ����������� �� ������ �������� ���� ��� ������� ������

������������ ���
2
��

3
�

7−δ
������	�� �� ��
���	�� �� ���

��. 3�< ��
���. 8
��
�����

3���� 4�. :==<#
�:E<� <# '����). '# 0�%����. �
� ># �
��5����. 2
�������) �, ��
 '
���

� $?
�� �
� ��


<����5

��� ���
���
5 �
 �6'6�A�
2

-�@
4
. 	���
�� �
 ��)��!�
 . :EF? �:=DF�#

:D�


